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Question Number : 1 Question Id : 92775914205 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The series is given, with one term missing. Choose amongst the given responses and complete the series.

A, BAB, CBABC, DCBABCD, EDCBABCDE,?
Options :

1. * FEDCBCDEF

2. % FEDBABDEF

3. ¥ FEDCBABCDEF

4. % GEDCBABCDEG

Question Number : 1 Question Id : 92775914205 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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A, BAB, CBABC, DCBABCD, EDCBABCDE,?
Options :

1. ¥ FEDCBCDEF

2. % FEDBABDEF

3. ¥ FEDCBABCDEF

4. % GEDCBABCDEG

Question Number : 2 Question Id : 92775914206 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What comes in place of question mark in the following letter series?

JKP, KLQ, LMR, MNS,?
Options :
1. ¥ NOT
2. % NPT
3. % PNS
4. % MPS

Question Number : 2 Question Id : 92775914206 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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JKP, KLQ, LMR, MNS,?
Options :
1. ¥ NOT
2. % NPT
3. #% PNS



4. = MPS

Question Number : 3 Question Id : 92775914207 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given responses, find the missing letter in the series.

A,LLP,V,AE,?
Options :
l.*F

2.% G

3. H

4. % 1

Question Number : 3 Question Id : 92775914207 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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AP, V,AE,?
Options :

l1.* F

2.% G

3.9 H

4. %1

Question Number : 4 Question Id : 92775914208 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given responses, find the missing letter in the series.

m ne m _ne m _n_y
Options :



1. ¥ oyoyoe
2. # oyoeoy
3. # ototoe

4. % ararae

Question Number : 4 Question Id : 92775914208 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau e faseat & 9, 9ot & g 31eR I BRI

m ne m _ne m _n_y
Options :

1. ¥ oyoyoe

2. ®% oyoeoy

3. ¥ ototoe

4. % grarae

Question Number : 5 Question Id : 92775914209 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the related letters from the given alternatives.

RPQ:PNO::JEK:?
Options :

1. % HDH

2. % HCI

3. % KGL

4. % KGM

Question Number : 5 Question Id : 92775914209 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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RPQ :PNO::JEK:?

Options :

1. ¥ HDH

2. % HCI

3. ¥ KGL

4, ¥ KGM

Question Number : 6 Question Id : 92775914210 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the related letters from the given alternatives.

CINP : FRGH :: EKJN : ?
Options :

1. # JUYP

2. ¥ JVEG

3. ¥ JNRQ

4. % INQR

Question Number : 6 Question Id : 92775914210 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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CINP : FRGH :: EKIN : ?

Options :

1. % JUYP

2. % JVEG

3. % INRQ

4. % JNQR



Question Number : 7 Question Id : 92775914211 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related word from the given alternatives.

Carbon: Diamond:: Corundum:?
Options :

1. * Garnet

2. ¥ Ruby

3. % Coral

4. % Topaz

Question Number : 7 Question Id : 92775914211 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % THc
2. ¢ =l
3. % I
4. % JURI

Question Number : 8 Question Id : 92775914212 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the related letters from the given alternatives.

CORDEN : ZROGBQ :: ? : PXIVRO
Options :

1. * MULMUL

2. % SULSUL



3. # MUNMUN
4. % SRSPQL

Question Number : 8 Question Id : 92775914212 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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CORDEN : ZROGBQ :: ? : PXIVRO

Options :

1. ¥ MULMUL

2. % SULSUL

3. ¥ MUNMUN

4. % SRSPQL

Question Number : 9 Question Id : 92775914213 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If 'Right Angle' is called 'Acute Angle', 'Acute Angle' is called 'Reflex Angle','Reflex Angle' is called 'Obtuse Angle' and 'Obtuse Angle' is called
'complete Angle', then which of the following is an angle that is greater than 90° and less than 180°?

Options :

1. * Obtuse Angle

2. % Right Angle

3. ¥ Complete Angle

4. % Acute Angle

Question Number : 9 Question Id : 92775914213 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
1 BT 90° V TS 3R 180° Y BIeT BId1 82

Options :



1. % JfYHDHIT
2. % gHDI
3. ¢ dquf @iy
4. % GADI

Question Number : 10 Question Id : 92775914214 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language if the value of ‘PIONEER’ is 70 and ‘BRAND?’ is 50, then what is the value of ‘TECHNOLOGY" in that code?
Options :

1. * 80

2. %90

3.4 100

4. % 110

Question Number : 10 Question Id : 92775914214 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T f3d He ymeT H, af 'PIONEER' &1 70, 3R ' BRAND® &1 50 &, df FRfeiRad & & ‘TECHNOLOGY’ RTeg & o |1 &1 gRT?
Options :

1. # 80

2. % 90

3.% 100

4. % 110

Question Number : 11 Question Id : 92775914215 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language ‘your son is her partner’ is written as ‘yo fa vo er hd’, “your brother has one wife’ is written as ‘fa bo eo se as’, ‘son
has his one brother’ is written as ‘vo as hs bo se” and ‘brother is your son partner’ is written as ‘se yo fa vo hd’.

How is ‘her’ written in that code language?



Options :
1. ¥ er
2. % sa
3. % hs
4. % hd

Question Number : 11 Question Id : 92775914215 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U fAfga hcHINT | ‘your son is her partner’ Cal ‘yo fa vo er hd’ foran GHT'IT%, ‘your brother has one wife’ DI “fa bo eo se as’ fRAT ST B ,
‘son has his one brother’ @ “vo as hs bo se’ feran Gﬂ?ﬂ% 3R “brother is your son partner’ Pl ‘se yo fa vo hd’ foran smar %I

I HHNT T “her’ &l ford bR ford?
Options :

1. ¥ er

2. % sa

3. % hs

4. % hd

Question Number : 12 Question Id : 92775914216 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If MOBILE is coded as NLYROYV, then how will COLD be coded as?
Options :

1. = XLOV

2. ¥ XLOW

3. * DLOW

4. * DPME

Question Number : 12 Question Id : 92775914216 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ® XLOV

2. ¥ XLOW

3. % DLOW

4. % DPME

Question Number : 13 Question Id : 92775914217 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the number that will complete the following series logically?

0,3,8,15,24,35, ?
Options :

1. ¥ 48

2. % 50

3. % 49

4. % 56

Question Number : 13 Question Id : 92775914217 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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0,3,8,15,24,35, ?
Options :

1. ¥ 48

2. % 50

3. % 49

4. % 56

Question Number : 14 Question Id : 92775914218 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Pointing towards Rajeev, a man said to a woman, “His mother is the only daughter of your father. How is the woman related to Rajeev?
Options :

1. ¥ Mother

2. * Grand-daughter

3. % Daughter

4. % Aunt

Question Number : 14 Question Id : 92775914218 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥

2. % Tt

3. %

4. % 3fict

Question Number : 15 Question Id : 92775914219 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Six people A, B, C, D, E and F sit around a circular table, not necessarily in the same order. A neither sits adjacent to B and F, nor opposite to
them and E neither sits adjacent to D and C nor opposite them. A sit immediate right of E.

Who sits opposite E?
Options :

1.* B

2.%C

3.% A

4. ¥ Either F or B



Question Number : 15 Question Id : 92775914219 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.* B

2.% C

3.% A

4 YAIAFAB

Question Number : 16 Question Id : 92775914220 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a row of 25 children facing South R is 16th from the right end and B is 18th from the left end. How many children are there between R and B?
Options :

1. %2

2.%3

3.% 4

4.7

Question Number : 16 Question Id : 92775914220 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. %2

2. %3




3. % 4
4.9 7

Question Number : 17 Question Id : 92775914221 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

6 boys A, B, C, D, E and F are sitting in a row facing West. D is between A and C. B is just right of C but left of F. E is not at the right end. Who
is at the right end?

Options :
1. % C
2.¥F
3. D
4. % B

Question Number : 17 Question Id : 92775914221 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % C

2.¥F

3. D

4. % B

Question Number : 18 Question Id : 92775914222 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Five Athletes — A, B, C, D and E participated in a race and finished the race at five different timings, not necessarily in the same order. C is
neither the first nor the last one to finish the race. Either B or D finished the race third and B finished the race immediately before C and
immediately after D. If A finished the race after D, then who is the last one to finish the race?

Options :
1.¥ A



2.% C
3. % E
4. % D

Question Number : 18 Question Id : 92775914222 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.¢¥ A

2. % C

3. % F

4. %D

Question Number : 19 Question Id : 92775914223 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question, below are three statements followed by four conclusions numbered I, 11, III, and IV. You have to consider the statements to be
true even if it seems to be at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the
given statements.

Statements:

All Iris are Cornea.
Some Cornea are Lens.
All Lens are Retina.

Conclusions:

I. Some Retina are Cornea
II. Some Retina are Lens
III. Some Lens are Iris

IV. Some Cornea are Retina

Options :

1. # None follows



2. % Only I and II follows
3. % Only III and IV follows
4. % Only I, IT and IV follows

Question Number : 19 Question Id : 92775914223 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 20 Question Id : 92775914224 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the question, below are two statements followed by two conclusions numbered I and II. You have to consider the statements to be true even if

it seems to be at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given
statements.



Statements:
Some coins are hundreds.
Some thousands are coins.

Conclusions:
I. All coins are hundreds.
II. Some hundreds are not thousands

Options :

1. # If only conclusion I follows

2. # If only conclusion II follows

3. # If either conclusion I or conclusion II follows

4. ¥ If neither conclusion I nor conclusion II follows

Question Number : 20 Question Id : 92775914224 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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General Ability2

Group Number : 2

Group Id : 927759554

Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
General Ability2

Section Id : 927759590

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 927759731

Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 92775914225 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the question, below are three statements followed by two conclusions numbered I and II. You have to consider the statements to be true even if

it seems to be at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given
statements.



Statements:

Some birds are tigers.
All tigers are schools.
Some schools are goats.

Conclusions:
I. Some goats are birds.
II. Some schools are birds

Options :

1. # If only Conclusion I follows

2. % If only Conclusion II follows

3. # If neither Conclusion I nor II follows
4. ® If both Conclusions I and II follow

Question Number : 21 Question Id : 92775914225 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 22 Question Id : 92775914226 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question, below are three statements followed by two conclusions numbered I and II. You have to consider the statements to be true even if
it seems to be at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given
statements.

Statements:

All girls are women.

All women are ladies.
Some ladies are intelligent.

Conclusions:
I. Some girls are intelligent.
II. Some women are intelligent.

Options :

1. % If only I follows

2. % If only II follows

3. # If either I or II follows
4. ¢ If neither I nor II follows

Question Number : 22 Question Id : 92775914226 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % e Bad [ STERU BT &

2. % TFE Had 11 3R BT &

3. % T ATAN 1T 11 STER0T Bl §

4. R AN R T 1 TR0 BT §

Question Number : 23 Question Id : 92775914227 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question, below are two statements followed by two conclusions numbered I and II. You have to consider the statements to be true even if
it seems to be at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given
statements.

Statements:
[.Some rooms are stone.
II.All stones are radio.

Conclusions:
[.Some rooms are radio.
II.Some stone are rooms.

Options :

1. # Only conclusion I follows

2. % Only conclusion II follows

3. ¥ Both conclusions I and II follow

4. % Either conclusion I or II follows

Question Number : 23 Question Id : 92775914227 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 24 Question Id : 92775914228 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the missing number from the given alternatives.

E 1} G a8
: ' = m
c ¢ |8 -
Options :
1. %1
2. % 4

3.%3



4.9 6

Question Number : 24 Question Id : 92775914228 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. %1
2. % 4
3.%3
4. ¥ 6

Question Number : 25 Question Id : 92775914229 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.

50, 38, 28, 20, 14, ?
Options :

1. % 12

2.¥10

3. % 15

4, % 8



Question Number : 25 Question Id : 92775914229 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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50, 38, 28, 20, 14, ?
Options :

1. #® 12

2.9 10

3. % 15

4. % 8

Question Number : 26 Question Id : 92775914230 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If A=B>C>D=E <F <G, which of the following expressions is definitely true?
Options :

l.* C>E

2. % E>A

3. F>C

4. ¥ B>E

Question Number : 26 Question Id : 92775914230 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT A=B>C>D=E<F<Gg, a = &3 HH-a1 o Fiyd dR Raa g
Options :

1.* C>E

2. % E>A

3. F>C

4. ¥ B>E



Question Number : 27 Question Id : 92775914231 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related number from the given alternatives.

24618 : 21 :: 87532 :25:: 94356 : ?
Options :

1. % 25

2.¥ 27

3. % 22

4. % 29

Question Number : 27 Question Id : 92775914231 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAefeiRad u=e o, fau ¢ faswedl O @ SrafRid W= &1 gi-u|

24618 : 21 :: 87532 :25:: 94356 : ?
Options :

1. % 25

2.9 27

3.% 22

4. % 29

Question Number : 28 Question Id : 92775914232 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following figures represents the best relationship among the three words given below.

Square of 5, Cube of three, Odd Number
Options :



8 ®®

Question Number : 28 Question Id : 92775914232 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frafifea # 3 PH- 1t anefa fiou T i wsal & s Jod 3/ ey Y o B
5 1 i, a4 1 9, faws dw=n

Options :




2.¢

3 ®®

4. %

Question Number : 29 Question Id : 92775914233 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following figures represents the best relationship among the three words given below.

Noble gases, Chlorine, Neon

Options :

O

1. ¥



Question Number : 29 Question Id : 92775914233 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafied & @ ®F- 3t srepfd fau U O wsal & o Ja o ey &I gidl g

3PP TN, F@RA, A

Options :

O

1. ¢

2. %



O
e O

Question Number : 30 Question Id : 92775914234 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following figures represents the best relationship among the three words given below.

family, husband and wife
Options :

QDO



Question Number : 30 Question Id : 92775914234 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frafifea # 3 PH- 1t enefa fiou T i wsal & s Jod 3/ ey Y g B
gfRaR, gfa 3R Telt

Options :

L. DO

4.

Question Number : 31 Question Id : 92775914235 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following diagram, the circle represents girls, square represents educated and the triangle represents married. Study the diagram carefully
and answer the given question.



The letter ‘e in the figure represents:
Options :

1. ¥ Educated married girls

2. ® Married but not Educated

3. % Married and Educated

4. ¥ Bducated girls but not married

Question Number : 31 Question Id : 92775914235 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed e &, 3a dafedl & gifar 7, a7 Riférd o) gxifdr § iR Ay faared &1 axiial g1 3R &1 Y 3T HIfoTY 3R
fT 7T Uy &1 IR |

3R T 31&R ¢ T &:
Options :

1. % fyarfeq Rifea asfear
2. % fyarfea dfe Riféra &t



3. % foarfed ik Ruferd
4. ¢ Rféa asfear dfe arfed T8t

Question Number : 32 Question Id : 92775914236 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Study the figure carefully and answer the given question.

Travelling Reading

670
o

Swimming

People who like reading and travelling but not swimming is represented by the letter
Options :

1. ¥ only e

2. % only b

3. % only g

4. % only f

Question Number : 32 Question Id : 92775914236 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3R T YD 37eqT- HifoTE 3R U 7T Uy o1 IR SIfore|



AN
N,

GRS

S AT UG 3R I AT U B g Afh RIbI Tal pRd s 3= 3R gRI S Srar |
Options :

1.¥ Hdd e

2. % Had b

3. % Wg

4. % $Had f

Question Number : 33 Question Id : 92775914237 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many hexagons are there in the figure given below?

2

Options :
1. % 4
2.¥5
3. % 11
4, % 8

Question Number : 33 Question Id : 92775914237 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

=it €t 718 3Mepfel H fobe W &7

2

Options :
1. % 4
2.¥5
3. % 11
4, % 8

Question Number : 34 Question Id : 92775914238 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many rectangles are there in the given figure?

| =

Options :
1. % 16
2. %19
3. % 21
4.9 18

Question Number : 34 Question Id : 92775914238 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& Tt snepfa H foba Smaa § 2



Options :
1. % 16
2. %19
3. %21
4.9 18

Question Number : 35 Question Id : 92775914239 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the figure that will come next in the following series.

e o 1/
o 7507
Options :

1. ¢

ﬁ\_
m&.
=




)

4. % £

Question Number : 35 Question Id : 92775914239 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I STpicl DT TG DISIT it AR STl gRaer & T et

TR AT
1/
“Winslla 1 #lns
i N s
Options :

LIBEIREIR=




Question Number : 36 Question Id : 92775914240 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is analogous to the given set of figures.

Question Figure:

oc o¢ 0000 oooo
oc¢ o¢ oooo|u| ? oooo
ot o¢ 0000 oooo

| 1l | Il
Options :

o o | f
ouou

oooo

gonoo
ooOo
gono

Oc Oc
Oc Oc
ocoo

ococ
ococ
ococ

Question Number : 36 Question Id : 92775914240 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 fadhe &1 9= Piforg S foU 1T siigpfadl & e & U 7|



TR Ao

0C Oc¢ 0000 oooo

ococ¢ |:|oooo|n| ? oooo

0¢ o¢ 0000 oooo
I i I [

Options :

i o | i f
ouou
oooo

gonoo
ooOo
oono

Oc Oc¢
Oc¢ Oc
ocoo

ococ
ococ
ococ

4.9

Question Number : 37 Question Id : 92775914241 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the answer figure in which the question figure is embedded.

Question Figure

K

(X)




Options :

X

Question Number : 37 Question Id : 92775914241 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I8 IR AH A 1A HIfoTe Fored Uy spfa Al Bl
T APl

K

(X)
Options :




1. ¢

/N

3. %

X

Question Number : 38 Question Id : 92775914242 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the mirror image of the figure given below.

4. %

Question Figure
P

20 XN N



Options :

M
W
] ®
ur
™
2.
™
‘A
3. %
™
¥
4. %

Question Number : 38 Question Id : 92775914242 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

- & it errepfa 1 U fdfa Id S|



e
rﬂ%

=
]
- V)
< N
-~
-
Q
Options :
M
W
1. %
wr
[
2.9
[
M
3. %
™
L¥)
4, ®

Question Number : 39 Question Id : 92775914243 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correct option to complete the following pattern.



Question Fizunre:

Options :

Question Number : 39 Question Id : 92775914243 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

frafifad ted & @ ovA & fore Il fadwen &1 9g4 S|
w2 AT

Options :

ZANEAN

3. ¢

AN | ZANZ AN B [ ZAN AN




Question Number : 40 Question Id : 92775914244 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose a figure which would most closely resemble the unfolded form of figure after folding and cutting.

Question Figure:
Y g | " ekl |
L] L] W ] ]
.I ] = - L] L]
' { ' o .
: : B :
Options :
Q
O
a
1.« 10

'Do 00
& %

O

IR Lo

Question Number : 40 Question Id : 92775914244 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 3MH I BT TG HIOT S A1 3R P SH & §18 U T & THH Vid st g |



TR T

L e Mttt Rt |
' T
N ] =Ccr L) L]
: 1 g |
: N = .
Options :
Q
O
a
L
2. Fo4 & %
®)
0
(8
3. % a
g g
00
oo
s o180
General Awarenessl1
Group Number : 3
Group Id : 927759555
Group Maximum Duration : 0
Group Minimum Duration : 0

Show Attended Group? : No



Edit Attended Group? : No

Break time : 0
Group Marks : 20
Is this Group for Examiner? : No

General Awarenessl

Section Id : 927759591
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 927759732
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 92775914245 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year was the Kandariya Mahadeva Temple constructed?
Options :

1. ¥ 999 AD

2. % 1065 AD

3. % 1100 AD

4. % 1099 AD

Question Number : 41 Question Id : 92775914245 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



&1 AgTed HieR &1 fAHiur i a fosan mar ut?
Options :

1. ¢ 999 St

2. % 1065 351

3. % 1100 3%

4. % 1099 3%

Question Number : 42 Question Id : 92775914246 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Where is the Shalimar Gardens, built by Jehangir, situated in India?
Options :

1. % Hyderabad

2. % Delhi

3. ¥ Srinagar

4. # Daulatabad

Question Number : 42 Question Id : 92775914246 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRA # fYd gk gRT AiHd eiHR T #8152
Options :

1. % gERETG

2. % facedl

3. ¢ 4R

4, % QAAIEIG

Question Number : 43 Question Id : 92775914247 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
For which of the following states is the festival Puthandu celebrated as the New Year?



Options :

1. # Kerala

2. % Tamil Nadu

3. # Andhra Pradesh
4. #* Karnataka

Question Number : 43 Question Id : 92775914247 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRad & 3 ford Y 8§ quig JdigR U 98 & &9 H 711 S 62
Options :

1. % B

2. ¢ At A1g

3. % 3MiY U™

4. % PACH

Question Number : 44 Question Id : 92775914248 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following states is the Modhera Film Festival celebrated?
Options :

1. % Maharashtra

2. ¥ Gujarat

3. ¥ Madhya Pradesh

4. % Uttar Pradesh

Question Number : 44 Question Id : 92775914248 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e fher Ay fRuferiRad A 9 {5 Irsg & 7mam Sira 82

Options :




1. % TERIY
2. ¢ ORI
3. % AU
4. % JAIUCY

Question Number : 45 Question Id : 92775914249 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following vocalists of India had penned many compositions with the name "Ram Rang"?
Options :

1. * Shubha Mudgal

2. % Pandit Jasraj

3. ¥ Pandit M. Balamuralikrishna

4. ¥ Pandit Ramashreya Jha

Question Number : 45 Question Id : 92775914249 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRd & Fafied & @ forg T = I\ [0 9THS 68 14 ford 87
Options :

1. % RHT gl

2. % UfSd SRRTS

3. % Uf$d M. SIeRAIp W]

4. UfSd IS <l

Question Number : 46 Question Id : 92775914250 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many digits are there in a cheque number?
Options :

1.¥6



2.% 7
3. % 8
4.%9

Question Number : 46 Question Id : 92775914250 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
I R T fohd oic B &

Options :

1.¥6

2.% 7

3. % 8

4. % 9

Question Number : 47 Question Id : 92775914251 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following has not been developed by the National Payments Corporation of India (NPCI)?
Options :

1. * UPI

2. % RuPay

3. % IMPS

4. ¥ PhonePe

Question Number : 47 Question Id : 92775914251 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFoffad 7 3 o1 91 HRd & AP Y R (@ 01 ors.) gR1 fasRya =&t far mar g2
Options :

1. ® g3,

2. % U



3. % 38 TA.UI 9.
4. v Iy

Question Number : 48 Question Id : 92775914252 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A person is a truck-driver who transports goods to various parts of the country. Which economic sector does he belong to?
Options :

1. # Primary

2. # Secondary

3. % Tertiary

4. % Quaternary

Question Number : 48 Question Id : 92775914252 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS R U Th-ST8aR 8 Sl 4 & fafys fewat & Aret uganar 1 a8 9 onfifer &arep @ eifira 22
Options :

1. % Ui

2. % fgdigs

3. ¢ S

4. % Ui

Question Number : 49 Question Id : 92775914253 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

After the merger of 10 Public Sector Banks on April 1, 2020, how many PSBs are there in India?
Options :

1. % 27

2. % 18

3. 12



4. % 10

Question Number : 49 Question Id : 92775914253 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 30, 2020 BT 10 IS &F & bl b [derd & a1G, YR H fba- fga ot g
Options :

1. % 27

2. % 18

3.¥ 12

4. % 10

Question Number : 50 Question Id : 92775914254 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As per the Union Budget 2020, with which of the following is the 'One product one district' related to?
Options :

1. # Dairy

2. % Horticulture

3. % Craftsmanship

4. # Skill-development

Question Number : 50 Question Id : 92775914254 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BT T 2020 F TR, TH IdTG U forar g & 1 forass w1y Taifird g2
Options :

1. % S

2. ¢ BliédeR

3. % fRIeypIRAT

4. % DI fabT



Question Number : 51 Question Id : 92775914255 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following elements has 2 electrons in K-shell and 2 electrons in L-shell?
Options :

1. # Lithium

2. % Beryllium

3. % Boron

4. % Carbon

Question Number : 51 Question Id : 92775914255 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad @ 9 forg aa@ W K-Her T 2 3R L-Fe H 2 SAaCH 81d o7
Options :

1. % fafm

2.« Sikferan

3. % gRM

4. % PHIaH

Question Number : 52 Question Id : 92775914256 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the [IUPAC name of Vinegar?
Options :

1. # Ethanol

2. # Sodium Chloride

3. % Sodium Bicarbonate

4. ¥ Acetic Acid

Question Number : 52 Question Id : 92775914256 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fRIRBT BT ITUPAC TTH FIT 82
Options :

1. % 3YA1d

2. % AIfSTH FARIZS

3. % QIfSgH TRHEHT

4. ¢ TRIfeH 37

Question Number : 53 Question Id : 92775914257 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is an example of a chronic disease?
Options :

1. % Common cold

2. ¥ Elephantiasis

3. % Appendicitis

4. % Influenza

Question Number : 53 Question Id : 92775914257 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefad & @ o9 dig 0T &1 T ISEI0T 82

Options :

1. ® Qr-gem™

2. ¢ TAhTesad
3. % HATDHIY
4. % UL

Question Number : 54 Question Id : 92775914258 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Due to which of the following phenomenon is a plasma created?
Options :

1. ¥ High energization of gases

2. % Super-cooling of solids

3. * Jonization of liquids

4. % Super-cooling of liquids

Question Number : 54 Question Id : 92775914258 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafad & T fg ger & SR Th WIeHT §-dT 82
Options :

1. ¢ TG Y 3= Sl

2. % B UGTIl T JOR-Ff o
3. % TR Uerdf &7 STl
4. % IR UGTIl BT FIR-HIHT

Question Number : 55 Question Id : 92775914259 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the length of India's coastline in the mainland?
Options :

1. ¥ 6,100 km

2. % 3,650 km

3. % 2000 km

4. % 7517 km

Question Number : 55 Question Id : 92775914259 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR &1 787 YfH GG de B fha-l awrs 82



Options :

1. ¥ 6,100 foal
2. % 3,650 fdl
3. % 2000 fopdit
4. % 7517 fooudt

Question Number : 56 Question Id : 92775914260 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Where is the highest peak of Peninsular plateau is located?
Options :

1. % Anaimalai hills

2. ® Javadi hills

3. ¥ Mahendragiri hills

4. ¥ Nallamala hills

Question Number : 56 Question Id : 92775914260 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TG SR &1 Jaie IR Hel RUd 82
Options :

1. ¢ 3FTHATS UgTiear

2. % SIge! UgISar

3. % RGN} ugTiSar

4. % TeAHIE UgIfSar

Question Number : 57 Question Id : 92775914261 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What are the meanders associated with?
Options :



1. ¥ The mature stage of a river in the evolution of fluvial land forms
2. # The premature stage of a mountain formation
3. % The mature stage of an ocean bed formation

4. #% The mature stage of a low land formation due to air erosion

Question Number : 57 Question Id : 92775914261 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faeyat e fafRry siepfa famwar g & 3 frae a9t 82
Options :

1. ¢ Fat & YA FUl & fabT™ & U ¢t Bl aRUS A’
2. % UGIS & 76 o IHY Y Ugd &l AT

3. % TENIFR ad (A0 &1 URUe aRol

4. % 9Tg &R0 & HRUN RT5 YH AT &1 akue =avur

Question Number : 58 Question Id : 92775914262 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many islands/islets are there in the Bay of Bengal Island groups?
Options :

1. % 23

2. % 345

3. % 119

4. ¥ 572

Question Number : 58 Question Id : 92775914262 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SIS Y TSt H g1y TGl | fha gluy ey g2
Options :

1. % 23



2. % 345
3. % 119
4.4 572

Question Number : 59 Question Id : 92775914263 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following Harappan sites were evidences of rice found?
Options :

1. % Kalibangan

2. ¥ Lothal

3. % Harappa

4. ¥ Mohenjo Daro

Question Number : 59 Question Id : 92775914263 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrofefed 7 9 ford gew ®id # e o YHT e 82
Options :

1. % DI

2. ¥ QYA

3. % gsWl

4. % HigToll aRI

Question Number : 60 Question Id : 92775914264 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who out of the following was the successor of Bindusara?
Options :

1. * Chandragupta

2. # Bimbisara



3. % Ashoka
4. % Ajatshatru

Question Number : 60 Question Id : 92775914264 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRed § § ®F fogaR & STRIRNGRT 42
Options :
1. % <<l
2. % faffeOR
3. ¢ 3RND
4. % 3{VITdRF
General Awareness2
Group Number : 4
Group Id : 927759556
Group Maximum Duration : 0
Group Minimum Duration : 0
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Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
General Awareness2
Section Id : 927759592
Section Number : 1
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Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 927759733
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 92775914265 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Nizam-ul-Mulk Asaf Jah was one of the most powerful members at the court of which Mughal emperor?
Options :

1. # Jahandar Shah

2. % Shah Jahan II

3. #® Alamgir 11

4. ¥ Farrukh siyar

Question Number : 61 Question Id : 92775914265 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFSTH-3d-Jedh 3 SI1E fohd Gl YHIC o GRER o oY ARl el d J U A2
Options :

1. % S§IaR QM8

2. % g g fgdi

3. % AR fgdia

4. ¥ Tl RER

Question Number : 62 Question Id : 92775914266 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who out of the following is the author of the book Kitab-ul-Hind?



Options :

1. ¥ Al-Biruni

2. # Ibn Batuta

3. % Al-Farabi

4. # Tbn al-Haytham

Question Number : 62 Question Id : 92775914266 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafeiad 7 @ o fede frde-3a-fée & dwe 32
Options :

1. ¢ 3rd-fors=it

2. % g dddr

3. % S-Sl

4. % Qo 3Hcl-gH

Question Number : 63 Question Id : 92775914267 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who had introduced the mahalwari system?
Options :

1. ¥ Holt Mackenzie

2. % Captain Alexander Read

3. % Lord Dalhousie

4. % Thomas Munro

Question Number : 63 Question Id : 92775914267 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HETAAR] YUTTc! o1 B3 fha- i &t

Options :



1. ¢ Blee Adolt
2. % PP TSR S
3. % TS Sagl
4. % YIOY R

Question Number : 64 Question Id : 92775914268 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who out of the following is Shankar Dayal Sharma?
Options :

1. ¢ Former President of India

2. #% Former Prime Minister of India

3. % Former Governor of RBI

4. ¥ Former Home Minister of India

Question Number : 64 Question Id : 92775914268 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiRad 7 9 o Yer <ure T 82

Options :

1. ¢ HRd & gd Igufd

2. % YRA & d TFHA
3. % 3RETSME & Jd TR
4. % YR & Yd T8 Tl

Question Number : 65 Question Id : 92775914269 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who out of the following is the Prime Minister of Russia?
Options :

1. #® Sergey Lavrov



2. * Vladimir Putin
3. ¥ Mikhail Mishustin
4. ¥ Dmitry Medveveev

Question Number : 65 Question Id : 92775914269 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fofifed o 9 319 9 & U 82
Options :

1. % IS deRIg

2. % SAMGHR gfdd

3. ¢ fhrargd foggfees

4. % fftEt Agdg

Question Number : 66 Question Id : 92775914270 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Where is the headquarters of the World Meteorological Organization situated?
Options :

1. # Paris

2. % London

3. # New York

4. ¥ Geneva

Question Number : 66 Question Id : 92775914270 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
%y A O W16+ &1 JeaTerd Fal fUd 82
Options :

1. % ORg

2. % dq-




3. % QhiD
4. ¢ ToHa1

Question Number : 67 Question Id : 92775914271 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many member states and observer states are there in the Shanghai Cooperation Organisation?
Options :

1. # 4 and 2 respectively

2. % 6 and 2 respectively

3. % 8 and 4 respectively

4. # 8 and 6 respectively

Question Number : 67 Question Id : 92775914271 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS TGN W3 | foha Faw o9 3R e I 67
Options :

1. % HUT: 4 3R 2

2. % HU: 6 3R 2

3. ¢ U 8 3R 4

4. % PHOT: 8 AR 6

Question Number : 68 Question Id : 92775914272 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
To whom is Shaurya Chakra awarded?
Options :

1. % Military personnels

2. # Civilians

3. % Athletes



4. ¥ Both military personnels and civilians

Question Number : 68 Question Id : 92775914272 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e = o fera e 2

Options :

1. % JqHHT

2. % AR

3. % TYdic

4. g Afadl 3R ANRSD! G

Question Number : 69 Question Id : 92775914273 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following countries has the world's strongest passports according to the Henley Passport Index?
Options :

1. # Australia

2. % USA

3. * France

4. ¥ Japan

Question Number : 69 Question Id : 92775914273 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B0 UTUIE Soa o SR FUfaRad # ¥ frd <=1 & UrIe gl & qad Aoigd URTIe 67
Options :

1. % 3ficfern

2. % TG Iy 3ARBT

3. % Y

4, « SIUA




Question Number : 70 Question Id : 92775914274 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Where is the ISRO Inertial Systems Unit based, where Vyommitra was manufactured?
Options :

1. % Bengaluru

2. % Thiruvananthapuram

3. % Hyderabad

4. ¥ Kochi

Question Number : 70 Question Id : 92775914274 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SR TS@ YUl IHTS (M SMTHY) HEl UR (YT §, 51 A0 o1 Hafor fasa mar o
Options :

1. % S

2. ¢ faea-iaqd

3. % gERMEIG

4. % pradl

Question Number : 71 Question Id : 92775914275 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

On which date is the World Wetlands Day celebrated?
Options :

1. # February 1st

2. % February 2nd

3. % February 3rd

4. ¥ February 4th

Question Number : 71 Question Id : 92775914275 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

ey Sy feaw frg Iig &1 wema ST 82
Options :

1. % | s

Question Number : 72 Question Id : 92775914276 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which country other than Pakistan had declared emergency due to locust attacks in 20207
Options :

1. % Greece

2. % Egypt

3. ¥ England

4. ¥ Somalia

Question Number : 72 Question Id : 92775914276 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2020 H UTfehc & 3feral fovd =1 A fe gl gHal o HRUT HTUTdDhT v fobar o
Options :

1. % 79

2. % g

3. % s

4. e

Question Number : 73 Question Id : 92775914277 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which of the following amendments of the Indian Constitution had inserted the Article 21A to provide free and compulsory education of all
children?

Options :

1. ¥ Seventy-sixth
2. % Eightieth

3. # Eighty-second
4. ¥ Eighty-sixth

Question Number : 73 Question Id : 92775914277 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR Tfaem & FofaRed # @ few gxieq 3 9t 9= &1 gua 3R sifard fRiem uem & & e srwse 21A STEr
Options :

1. % fgoRar

2. % 3rtar

3. % ggRflal

4. Tesareitar

Question Number : 74 Question Id : 92775914278 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Under which of the following of the Constitution is ‘Police’ under the State list?
Options :

1. % Article 132

2. % 5th Schedule

3. ¢ 7th Schedule

4. % Article 330

Question Number : 74 Question Id : 92775914278 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



YR o e &1 for 3G a1 3fwse & ded 'gfenT &I Iod i § Yl ol T/ g2
Options :

1. % 396 132

2. % 54} 3Fgt

3. 74 STl

4. % 3G 330

Question Number : 75 Question Id : 92775914279 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following articles of the Indian Constitution empowers the Supreme Court for original jurisdiction to deal with any dispute between
the Centre and a state?

Options :

1. # Article 125
2. ¥ Article 131
3. # Article 138
4. % Article 141

Question Number : 75 Question Id : 92775914279 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

W@%ﬂg{%ﬁﬂ%@ﬁmj@ﬁﬁﬁ P I H% R I & &id forait Hi faarg § Foen o fore i e & 9 TrifiieR &1
fYHR T g2

Options :

1. % 3G 125
2. ¥ 3G 131
3. % 3G 138
4. % TG 141

Question Number : 76 Question Id : 92775914280 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which was the first tribal language to be included in the eighth schedule of the Indian Constitution?
Options :

1. * Shompen

2. % Nepali

3. ® Tulu

4. ¥ Bodo

Question Number : 76 Question Id : 92775914280 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR HfAY™ Bt 3Taa gt o =M g1 arell ugal Sfeare HTST i it 7
Options :

1. % A

2. % UTC!

3. % dq

4.« I8l

Question Number : 77 Question Id : 92775914281 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Fundamental Duties of the Indian Constitution was inspired from which of the following country's constitution?
Options :

1. # USA

2. % Canada

3. ¥ USSR

4. # France

Question Number : 77 Question Id : 92775914281 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RO Gf3eT o1 Afeies Paoy FufeRad 7 9 g < & dfaem 3 afvd um



Options :

1. % e Iy AR
2. % HASI

3. ¢ TIfdgd ¥ (USSR)
4. % 1Y

Question Number : 78 Question Id : 92775914282 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

With which of the following sports is Sushil Kumar related to?
Options :

1. # Hockey

2. # Boxing

3. ¥ Wrestling

4. % Archery

Question Number : 78 Question Id : 92775914282 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

geiia R e 3 @ frg 9 3 gefia 82
Options :

1. % gl

2. % IR

3. ¢ Rl

4. % 3R

Question Number : 79 Question Id : 92775914283 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
With which of the following sports is the PGA Championship related to?
Options :



1. # Squash
2. % Polo
3. % Archery
4. ¥ Golf

Question Number : 79 Question Id : 92775914283 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

dieiie AR FafoRad # 9 fog wa 9 Hefid o2
Options :

1. # WD

2. % glefl

3. % 3R

4. b

Question Number : 80 Question Id : 92775914284 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Where was the FIFA U-17 Women's World Cup 2020 supposed to happen?
Options :

1. % England

2. # Brazil

3. % India

4. % China

Question Number : 80 Question Id : 92775914284 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TIWT 31X -17 Afgdr {9y U 2020 HT gHT U2
Options :

1. % 3ds




2. % §old
3. % YHRd
4. % T
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Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :
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Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Enable Mark as Answered Mark for Review and Clear Response :

Sub-Section Number :
Sub-Section Id :
Question Shuffling Allowed :

Question Number : 81 Question Id : 92775914285 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Arithmetic Abilityl

5
927759557
0

0

No

No

0

20

No

Arithmetic Abilityl

927759593
1

Online
Mandatory
20

20

20

Yes

1
927759734
Yes



Correct Marks : 1 Wrong Marks : 0.25
What should come in place of question mark (?) in the following question?

7

(1728)%2 + (144)%8 x (12)32 = 12’
Options :

1. % 0.5

2.922

3. % 484

4. % 25

Question Number : 81 Question Id : 92775914285 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foferfad oy o uy g (2) & R R &1 31 918 2

(1728)*2 + (144)%® x (12)*2? = 12°
Options :

1. %05

2.¥22

3. % 484

4. %25

Question Number : 82 Question Id : 92775914286 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the number P61924 is a multiple of 6, then find the sum of all the digits that can be placed at the place of P.
Options :

1. % 12

2.% 15

3.%9

4. % 18



Question Number : 82 Question Id : 92775914286 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e - P61924, 6 B U &, dl 31 G Sieh! BT TN F1d Pifod foIg P & I TR QT I AHhlT ¢ |
Options :

1. % 12

2.9 15

3.9

4. % 18

Question Number : 83 Question Id : 92775914287 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A red light flashes four times per minute and a green light flashes six times in two minutes at regular intervals. If both lights start flashing at the
same time, how many times do they flash together in one hour?

Options :
1. * 30
2. % 24
3. % 20
4. ¥ 60

Question Number : 83 Question Id : 92775914287 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafid siavrd W te arat o<it ufd fiFe IR TR 3R Us &3 st &) i & ©8 IR Irwdl 31 afe Sl aftal ue € 99a 991 uRe
gl g, A 3 T °e H fhari 9R U 1Y THHB o2

Options :

1. % 30

2. % 24

3. % 20

4.9 60



Question Number : 84 Question Id : 92775914288 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Three pizzas of weight 460g, 800g and 720g are to be divided into parts of equal weights. Further, each part must be as heavy as possible. If one
such part is served to one guest, then what is the maximum number of guests that got pizza?

Options :
1. ® 86
2. % 72
3. % 112
4.9 99

Question Number : 84 Question Id : 92775914288 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

460 T, 800 TTH 3R 720 UTH g9l & i FUST BT THM ao & U H faHiford fear ST 81 39 3ielrar, Udds HRT i1 T4 8, S
HRY BT 13T Ife 39 dRE & U HITT B! U HgHI &I TRIGT SIdT 8, ol fUssT U aTdt A Al bt Uiy Tve &1 82

Options :

1. % 86

2. % 72

3.% 112

4.9 99

Question Number : 85 Question Id : 92775914289 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Simplify:

0.12(0.0064+0.002)+0.36x0.002
0.12x0.12 ]

Options :
1. % 11



2. % 17
3.40.12
4. % 18

Question Number : 85 Question Id : 92775914289 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

WW:

0.12(0.0064+0.002)+0.36x0.002
0.12x0.12 ]

Options :
1. % 11
2. % 17
3.940.12
4. % 18

Question Number : 86 Question Id : 92775914290 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In an office, the average salary of marketing department is Rs. 8300. The average salary of account department is Rs. 7600. The average salary of
sells department is Rs. 8500. The average salary of marketing department and account department is Rs. 7900 and average salary of account
department and sells department is Rs. 8100. What is the average salary of all three departments together?

Options :

1. ¥ Rs. 8150
2. % Rs. 8250
3. % Rs. 8400
4. % Rs. 7900

Question Number : 86 Question Id : 92775914290 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



U S H, fauur faHmT &1 3id da 8300 U § | <RaT fAHRT &7 3d I+ 7600 03 g | fapt fAHRT T 3d 9+ 8500 TUA g |
%ﬁ%ﬂﬁ@??@ﬁwmaﬁwaﬁqmo ¥ 3R AT fIHRT 3R foep! faumT 71 3gd 3a 8100 =T g1 <=1 fAHTT 1 T 1y
fag?

Options :

1. ¥ 8150 34U
2. % 8250 TYY
3. % 8400 TUY
4. % 7900 3T

Question Number : 87 Question Id : 92775914291 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a set of seven consecutive even numbers, the average of fourth and seventh even numbers is 223. Find the sum of all seven numbers.
Options :

1. % 1680

2. % 1540

3. % 1356

4, % 1484

Question Number : 87 Question Id : 92775914291 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AR AT 91 Sesil & U I=d H, 9 3R ITad 90 Tersil &1 $id 223 § 1 9t I1a SReansii &1 Iied J1d S|
Options :

1. % 1680

2.9 1540

3. % 1356

4. % 1484

Question Number : 88 Question Id : 92775914292 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The average age of a woman and her two daughters Rinki and Pinki is 38 years. If Rinki is 2 years older to Pinki and the woman’s age is four
times to Rinki then what is the age of Pinki?

Options :

1. # 16 years 9 months
2. % 17 years 6 months
3. % 17 years 8 months
4. ¥ 17 years 4 months

Question Number : 88 Question Id : 92775914292 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T Hfgel 3R 3! < afedl Rt iR st ot sha 3y 38 oy 81 Tfe feapt, ffept & 2 o o€t @ SR At i g Ry Y IR T B
fent o1 Mg T B2

Options :

1. % 169q¥ 9 HEH

2. % 1799 6 HgH

3. % 1799 8 HgH

4. 1799 4 TgH

Question Number : 89 Question Id : 92775914293 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a class a student's marks in Hindi were wrongly entered as 90 instead of 69. Due to that the average marks for the class in Hindi got increased
by value 3/5. If total marks of the same class for the same number of students in English is 2695, then find the average marks of class in English.

Options :
1.¥ 77
2. % 59
3. % 655
4, % 823

Question Number : 89 Question Id : 92775914293 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

U HefT ¥ ) H U BT & 3! DI T T 69 &b FOIT 90 &of [ha1 77 | 39 HRUT fdl H wef o1 3id 3i6 3/5 A § §¢ 141 | afe
I e 7 SN & THH BE & 3fh! BT ANT 2695 &, Al SIS H BT T 3T i J1d HIfvT |

Options :

1.¥ 77

2. % 59

3. % 655

4. % 823

Question Number : 90 Question Id : 92775914294 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Colony B has 75 percent more population than colony A. Number of females in colony A is equal to number of males in colony B. In both the
colonies, what percentage of the total population are males?

Options :

1. # 33.33 percent
2. % 36.36 percent
3. % 39.8 percent
4. % 31.25 percent

Question Number : 90 Question Id : 92775914294 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P B H I A BT ga H 75 WA= e STamc! 81 diart A T afgarsit & I, Hiart B & Joul & 981 & aR1eR ¢ | gl
S 8, T ETC! BT fhd-T Hia=d Jou 87

Options :

1. % 33.33 Ufard

2. ¥ 36.36 Ul

3. % 39 8 Yfa=Id

4. % 3125 gfard

Question Number : 91 Question Id : 92775914295 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Gagan’s present age in years is 2/5 of Shankar’s age. After few years, Gagan’s age will be half of Shankar’s age. By what percentage will
Shankar’s age increase during this period?

Options :

1. # 15 percent
2. % 18 percent
3. % 24 percent
4. % 20 percent

Question Number : 91 Question Id : 92775914295 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TV 1 I 3T (@ 7 ), R B TG BT 2/5 81 HS a8 & §1G, T B TG AHR B G el 8 St | 39 3rafy I SR bR B
31g fore 11 Ufe=rd 5 St

Options :

1. % 15 yfc=rd

2. % 18 Ufa=a

3. % 24 UfdId

4. ¢ 20 gfa=rd

Question Number : 92 Question Id : 92775914296 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The hourly wage of a worker is increased by 12.5 percent whereas the weekly working hours are reduced by 8 percent. Find the percentage
change in the weekly wages.

Options :

1. ¥ 3.5 percent
2. % 4 percent
3. % 4.5 percent
4. % 2 percent



Question Number : 92 Question Id : 92775914296 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH Y DI Ufd geT Aoigdl J 12.5 U= &1 gl g8 Saic ATlied HIH o °c | 8 U= &1 ®H gs | ATligd Holge! | Wia=d
BISCRERIGEF 1Y

Options :

1. ¢ 3.5 Ufc=rd

2. % 4Yfa=Ia

3. % 4.5 Uf=Id

4. % 2 gfa=a

Question Number : 93 Question Id : 92775914297 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a school there are 1800 students. On Monday, only 4 percent of the boys were absent. On Tuesday only 5 percent of the girls were absent. But
in both the days, number of students present in the school, were same. What is the number of girls in the school?

Options :
1. # 1200
2. % 800
3. % 900
4. % 500

Question Number : 93 Question Id : 92775914297 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP oA A 1800 B ¢ | THAR B, Had 4 YA Ted AJIRUT ¥ | HAIR B had 5 Uid=Id dsfdbar srgufud of | afe gt femt 1,
Fd 1 IURYd BHEl &t Te gaH | Wod § wsfodl & T fhant 82

Options :
1. % 1200
2. % 800
3. % 900
4. % 500




Question Number : 94 Question Id : 92775914298 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A dealer sells a chair for Rs. 2400, making a profit of 25 percent. He sells a table at a loss of 10 percent and on the whole makes neither profit nor
loss. What is the cost price of table?

Options :

1. % Rs. 5100
2. % Rs. 3600
3. # Rs. 5600
4. ¥ Rs. 4800

Question Number : 94 Question Id : 92775914298 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP SIR B 2400 TUT H T HYT 9 TR 25 UfAd o7 ar fiear 31 98 10 UfA<rd &1 81 IR Teh A9 99T § 3R P A-eA R ag I ot
TH AT 8 3R 9 81 81 | S B ANTd AT o1 82

Options :

1. % 5100 39T

2. % 3600 TYY

3. % 5600 39U

4. ¥ 4800 3T

Question Number : 95 Question Id : 92775914299 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rakesh bought an old car at some price. He repaired and sold the car at 80 percent above the buying price. He got the profit of 25 percent. How
much percent of buying price did he spend on repairs?

Options :

1. # 32.5 percent
2. # 60 percent
3. % 44 percent



4. # 55 percent

Question Number : 95 Question Id : 92775914299 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RH A fordfl HIHd R TH RAT HR We! | I HR B AT B o dg 34 WRie Jod I 80 Ufa=rd $1feres & oF ot | 39 25 Ufa=rd
DAY G3HT| WRIG DA BT [T U= I IR TR W [har
Options :

1. % 32.5 gfa=rd
2. % 60 Ufa=rd
3. ¢ 44 YfaId
4. % 55 Yfa=rd

Question Number : 96 Question Id : 92775914300 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rachit and Archit buy two goods at Rs. P and Rs. 2P respectively. Rachit marks his goods at x percent above the cost price and sold it, Archit
marks his goods at 2x percent above the cost price and offers a discount of x percent. If both make the same profit, then what is the value of x?

Options :
1. ¥ 25
2. % 50
3. % 40
4. % 10

Question Number : 96 Question Id : 92775914300 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e SR 3fffd HH: p T 3R 2P T H & YHH Wiiad & | AT 7 30 THH R aFTd T  x Ufa=rd i sifeed avas 39 o4
m%aﬁaﬁaﬁwﬁwuﬁﬁzxmm&mmﬁ?xmﬁw%uﬁaﬁ:ﬁwwuaﬁnﬁ%‘,a‘rxwm
R 5?

Options :

1. ¥ 25




2. %50
3. % 40
4. % 10

Question Number : 97 Question Id : 92775914301 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ratio in which Surendra and Narendra have contributed the capitals in a company is 3 : 4. Narendra has invested his capital for only 3 months
and has received half as much profit as Surendra. For how much time Surendra invested his capital in the company?

Options :

1. ¥ 8 months
2. % 6 months
3. #* 9 months
4. # 12 months

Question Number : 97 Question Id : 92775914301 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y5 SR NG A TP HUN H 3: 4 P SI07d & Yol A= fbdT| TRg A adt 3 T & 1T 3ot goit o1 Fawr fasan oIk g &1 g arel ary
BT ST TATH TS §3MT| foba T o foTg g o ST gofl ot H e

Options :

1. v 8 {5

2. % cHgH

3. % 9HGH

4. % 127gH

Question Number : 98 Question Id : 92775914302 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ifx:y=1:2,y:z=1:3,z:w=3:8andu:w=2:5, then find the value of (xyu) : (W*z)
Options :



1.*1:90
2. % 3:80
3.¢41:120
4. % 3:160

Question Number : 98 Question Id : 92775914302 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
gfe Ery=lid =l L Erw=3 -8 3R 11:w=2:5._?_IT(X}11}:(wzz)WIIF[$ﬂH Biforg |

Options :

1. % 1:90
2. % 3:80
3.9 1:120
4. % 3:160

Question Number : 99 Question Id : 92775914303 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the total 390 students studying in a college of arts and science, boys and girls are in the ratio of 7 : 6 respectively and the number of
students studying arts and science are in the ratio of 3 : 7 respectively. The boys and the girls studying arts are in the ratio 4 : 5 respectively. How
many boys are studying science?

Options :
1. % 52
2. % 65
3. % 115
4.9 158

Question Number : 99 Question Id : 92775914303 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FHal 3R fITH & Ficsl § U ard $d 390 B! A A HH: TSdh AR AS(HAT 7: 6 B U H § 4T Sl 3R a3 U ard S bl




AT HHRT: 3: 7 P SIATT H & | AT B T B dI0 A dh AR AS[DhTT HHRT: 4: 5 B AU H g | fhad dSd A3 UG 8 82
Options :

1. % 52

2. % 65

3. % 115

4.9 158

Question Number : 100 Question Id : 92775914304 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four milkmen rented a pasture. A grazed 18 cows for 4 months, B grazed 25 cows for 2 months, C grazed 28 cows for 5 months and D grazed 21
cows for 3 months. If A’s share of rent is Rs.1800, then what is the total rent of the field (in rupees)?

Options :
1. * 1500
2. % 1775
3. ¥ 8125
4. * 1650

Question Number : 100 Question Id : 92775914304 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR a7l H U IRITE fhR R el A 5 4 7811 9 18 T &1 ORI, B H 2 HeH db 25 T &1 @RMAT, C H 5 He I dob 28 Tl Bl
TRIT 3R D 7 3 AEA db 21 A1 & TRMAT | TG A & 1T &1 31 1800 9L &, Y &7 &1 Hd fobran (3Td! H) fpa g2
Options :

1. % 1500

2. % 1775

3. ¥ 8125

4. % 1650

Arithmetic Ability2



Group Number : 6

Group Id : 927759558
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No

Arithmetic Ability2

Section Id : 927759594
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 927759735
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 92775914305 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

On what sum of money will the compound interest of 2 years be the same as the simple interest on Rs. 1236 for 8 years, if the rate of interest is 6
percent per annum in both the cases?

Options :

1. ® Rs. 4150
2. % Rs. 3900
3. ¥ Rs. 4800



4. % Rs. 5600

Question Number : 101 Question Id : 92775914305 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forg ARI W 2 99 BT Tl S, 1236 UL W 8 aY & WYRY SIS P JHM g1, TS 1 FRUfY & saret Bl &R 6 wfarera uf aef 82
Options :

1. % 4150 30

2. % 3900 TYY

3. ¢ 4800 $UY

4. % 5600 3T

Question Number : 102 Question Id : 92775914306 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Yuvraj borrows Rs. 15000 for 3 years at 4 percent p.a. simple interest. He immediately lends it to another person at 12 percent p.a. for 2 years on
compound interest compounded annually. Find his gain in this transaction.

Options :

1. % Rs. 1972
2. % Rs. 2240
3. % Rs. 1832
4. ¥ Rs. 2016

Question Number : 102 Question Id : 92775914306 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RIS = 3 T4 & Tl 4 Tfa=Td Ui a9 YR &1 B &R ¥ 15000 39F IUR AU 98 A 39 12 Uia=d ufd a¥ wehgla s @ftie 4
J II) P R T 2 I8 & fore fHdt 3 sufdd &) SUR a1 81 39 AF-¢ H ITHT AT J1d Hiforg|

Options :

1. % 1972 309

2. % 2240 TYY

3. % 1832300




4.% 2016 3T

Question Number : 103 Question Id : 92775914307 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The compound interest on a certain sum for 2 years at 12.5 percent p.a. compounded annually is Rs. 956.25. What will be the simple interest on
the same sum for double the time at half the rate of interest?

Options :

1. % Rs. 750
2. % Rs. 850
3. ¥ Rs. 900
4. % Rs. 800

Question Number : 103 Question Id : 92775914307 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

12.5 gfard ufd a9 &1 o= ¥ Te [FfYa T | 2 a¥ &1 I gfs s @i © 0 ¥ Waifird) 956.25 00 g | THM M TR &A1 Bt 3ATeft
R Y ST 99T & o IR0 A1 fdoa =11 g

Options :

1. % 750 309

2. % 850 30

3. ¢ 900 T

4. % 800 TYY

Question Number : 104 Question Id : 92775914308 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sunita is waiting on the railway station for the arrival of her train. Two trains GT Express and Malwa Express running in opposite directions
cross Sunita on the platform in 27 seconds and 17 seconds respectively and they cross each other in 23 seconds. What is the ratio of speed of GT
Express to speed of Malwa Express?

Options :
1. % 2:3



2.% 1:2
3.¥°3:2
4. % 2:1

Question Number : 104 Question Id : 92775914308 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT 3T 2 F 3 & 1T Yord TR W Uclen R 38 71 fauia fazn & T areft &) 2 ofidt van 3R A1era Ty We T R
TS AT DI HHRL: 27 Y S 3R 17 Y8 B UR HRil § 3R d 23 Ve T Th gL DI IR Bl g | Siic! TRTSN i 7Tid 3R ATerdT Taaod
& T T SUTd T 82

Options :

l. % 2:3

2. % 1:2

3. 3:2

4. % 2:1

Question Number : 105 Question Id : 92775914309 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Veeru and Dheeru run a 6 km race on a round race course of 400 m. If their speeds be in the ratio of 5 : 4, how often does the Veeru cross the
Dheeru?

Options :

T
2= times
® 2

g
3= times
2 ® 2

5 % 2 times

4« 3 times



Question Number : 105 Question Id : 92775914309 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
W@Ttﬂ?ﬁ%ooﬁﬁ%ﬂé@%ﬂ&ﬁ%%ﬁﬂgm% | afg I! 1M 5: 4 & 3T H B, I UT9: IR fhat SR e &1 aR
PRl B?
Options :
2-§R
2

1. =

3= dR
2.% 2

, % 28R

4 ¢ 39

Question Number : 106 Question Id : 92775914310 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A car runs at the speed of 40 kmph when it is not serviced and runs at 80 kmph when it is serviced. After servicing the car covers a certain
distance in 8 hours. How much time will the car take to cover the same distance when it is not serviced?

Options :

1. # 12 hours
2. % 14 hours
3. % 16 hours
4. % 18 hours

Question Number : 106 Question Id : 92775914310 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



TP PR 40 fHol Ul b 3 71 I Fadl 8 ofd SUH iay g1 88 sidl & 3R Iid¥ gi- R Ig 80 fobHt Ufd ¢ o1 1fa & Ferell ¢ | IfdRFT &
¢ HR 8 T T THh Mid gl 00 Hcll 8 | BR BT ST Gl DI o B H o= T TR o1d 390 AR 61 g5 BN 2

Options :

1. % 129¢
2. % 14°¢C
3.¢ 169c
4. % 18°C

Question Number : 107 Question Id : 92775914311 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Nipul starts working on a job and works on it for 16 days and completes 40 percent of the work. After that, he employs Ravi and together they
work for 16 days and the work gets completed. Nipul is how much more efficient than Ravi?

Options :

1. ¥ 100 percent
2. % 50 percent
3. % 150 percent
4. % 200 percent

Question Number : 107 Question Id : 92775914311 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y U Sife TR TH HRAT & Hal § 3R 16 T3 H 40 U S R HA1 8 | 3D §1G, I8 Ifd B Fgad B8 3R d TH I 16
f&1 & fore &1 PR § 3R &1 W1 81 ol ¢ | Y, 3 1 forar eiferes srdeperat /2

Options :

1. + 100 Ufa=rd
2. % 50 gfard
3. % 150 Ufawrd
4. % 200 gfa=rd

Question Number : 108 Question Id : 92775914312 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

In a hostel, the food is sufficient for 300 students for 35 days, if each student is given 240 g meals in a day. But 180 more students joined the
hostel. Now what should be the reduction in meal of each student so that the food will last for same number of days?

Options :
1. % 150 g
2.990¢g
3.#60g
4. % 130¢g

Question Number : 108 Question Id : 92775914312 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ife YA B Bl T faa | 240 UTH HIeH feam S Y Ues SEEN H, 35 et & faw 300 S &1 HieH g g1 dfhT 180 3R I
JHETEN | M §UI S AP S & HIoH H o= HH! B ofHT Nfe difcs HieH JaH &1 g gaie 382

Options :

1. % 150 UTH
2.% 90 UTH
3. % 60 YMH
4, % 130 UH

Question Number : 109 Question Id : 92775914313 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two pipes P and Q can fill a tank in 12 min and 16 min respectively. Both are opened together, but at the end of 4 min, pipe Q is closed. How
many minutes it takes to fill the tank?

Options :

1. ¥ 9 min
2. % 14 min
3. % 8 min

4. % 24 min

Question Number : 109 Question Id : 92775914313 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

3 IS P 3R Q HHWE: 12 fiFe 3R 16 e # teh ¢ R Iohd €| FI U I1Y Widl STd &, AfehT 4 fBTe & 918 UIsy Q si¢ o feum siran
g1 P B R H fha1 fire @ 2

Options :

1. ¢ 9 fiFe
2. % 1410
3. % g fiFe
4. % 24 e

Question Number : 110 Question Id : 92775914314 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A, B and C can do a work alone in 10 days, 15 days and 12 days respectively. All three start the work together but A left after 1 day and after 2
more days B left and C complete the remaining work. If A earns Rs. 60, then find the earning of C.

Options :

1. ¥ Rs. 320
2. ¥ Rs. 420
3. % Rs. 560
4. # Rs. 460

Question Number : 110 Question Id : 92775914314 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A, B 3R C U 10 &, 15 fE 3R 12 G T U S/ U R Idhd € | i1 Ueb W1 HTH & HRd ¢ ich] A Th o & 9l FH B8
31§ auT 2 Sfafdad fa7 91 B B a1 8 3R ¢ A SR B R HAT 81 M A, 60 SUT HHTAT 8, Al C B HHTS J1d DI

Options :

1. % 320309
2. ¥ 420 30
3. % 560 904
4. % 460 39Y




Question Number : 111 Question Id : 92775914315 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A rectangular tank is 62 cm deep. If 3000 cubic cm of water be drawn off the tank, the level of the water in the tank goes down by 4 cm. how
many cubic cm of water can the tank hold?

Options :

1. # 43500 cubic cm
2. % 58400 cubic cm
3. % 52600 cubic cm
4. % 46500 cubic cm

Question Number : 111 Question Id : 92775914315 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP AATHR b 62 TH eI 81 T T T 3000 T I U1 b1 Sra g, o & H U &1 TR 4 T 1 It S g1 ¢ | fpa o
QY g XGT STT Hepal 82

Options :

1. % 43500 I 9
2. % 58400 99 I
3. % 52600 99 A
4. ¥ 46500 T I

Question Number : 112 Question Id : 92775914316 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A cylindrical tennis ball container can contain maximum four balls stacked on one another. The top and bottom balls also touch the lid and the
base of the container respectively. If the volume of a tennis ball is 240 cubic cm, then what is the volume of the container?

Options :

1. # 1280 cubic cm
2. % 2140 cubic cm
3. % 1440 cubic cm
4. #® 1560 cubic cm



Question Number : 112 Question Id : 92775914316 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP SATHR 9 B 7ig & U H Th g & IR HAHTH IR 71 I8 o Tobell & | HUR SR - 1 71 HH: b 3R U & YR
®I Fal &1 TS TP < STat T AT 240 T I 7, ) U HT A 1 82

Options :

1. % 1280 O IHI
2. % 2140 9 IHI
3. ¢ 1440 9 9T
4. % 1560 99 TH

Question Number : 113 Question Id : 92775914317 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four equal maximum sized circular plates are cut off from a square paper sheet of area 3136 sq. cm. What is the area of remaining sheet of
paper?

Options :

1. # 708 sq. cm

2. % 942 sq.cm

3.9 672 sq. cm

4. % 760 sq. cm

Question Number : 113 Question Id : 92775914317 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR UM HfYHAH MHR B MATDHR @IS 3136 I JH & o7 Wi J FHIct STl & | SIS Bt A Xfte BT 8 1 82
Options :

1. % 708 o It

2. % 942 T Y

3. ¢ 672 1 O

4. % 760 I YA



Question Number : 114 Question Id : 92775914318 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A cube of 6 cm side is cut into cubes of 2 cm side. What is the ratio of the total surface area of the larger cube to that of the sum of the total
surface areas of the smaller cubes?

Options :
I.*%¥1:6
2.9 1:3
3.% 1:4
4. % 1:9

Question Number : 114 Question Id : 92775914318 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

6 A YOI & T 9 &1 2 TH YT & °1 & HIeT offdl § | IS T BT Hd I 8B 3R BIC -1 & $ol T8 &bl T SUTd o1 82

Options :

I.%1:6
2.9 1:3
3.% 1:4
4, % 1:9

Question Number : 115 Question Id : 92775914319 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The following table shows the number of new students added and left in different schools in different years.



Year| School A School B School C

New | Left | New | Left | New | Left
added added added
2010 380 [ 124 | 420 | 120 | 350 | 155
2011 | 220 82 | 300 | 110 | 140 25
2012 | 163 70 150 | 185 | 120 | 98
2013 | 310 45 50 163 230 65
2014 | 245 96 80 42 200 70

What is the difference between the total number of students added to the school B and the total number of students added to the school C during
the years 2010 to 2014?

Options :
1. % 46
2. % 50
3. % 37
4. 40

Question Number : 115 Question Id : 92775914319 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

for arferenT faftrsr o & faftre Tl & U 2nfird ok ©1S gU SH! &) Iam &1 auidl 8|

ay PAA WWAB qac
Bl EERCHEE EERCBEE B Y
Ed Byl Er A
2010 380 124 420 120 350 155
2011 220 82 300 110 140 25
2012 163 70 150 185 120 08
2013 310 45 50 163 230 65
2014 245 06 80 437 200 70

ay 2010 T 2014 & GRM WHd B T M §UBSH B! d AAT 3R W@d C & A U SH & Hot G H ek fba g2
Options :
1. % 46



2. % 50
3. %37
4. 40

Question Number : 116 Question Id : 92775914320 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The following table shows the number of new students added and left in different schools in different years.

Year| School A School B School C

New | Left | New | Left | New | Left
added added added
2010 | 380 [ 124 | 420 | 120 | 350 [ 155
2011 | 220 82 | 300 | 110 | 140 25
2012 | 163 70 150 185 120 98
2013 | 310 45 50 163 | 230 | 65
2014 | 245 26 30 42 | 200 70

What will be the ratio of the average of all the students of school A who left the school in all the years together to average of all the students of
school C who left the school in all the years together respectively ?

Options :

1. % 89:91
2. % 83:81
3.9 417 : 413
4. % 293:217

Question Number : 116 Question Id : 92775914320 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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2010 380 124 420 120 350 155
2011 220 82 300 110 140 25
2012 163 70 150 185 120 08
2013 310 45 50 163 230 65
2014 245 06 80 437 200 70

Tt el 7 T A A TR SIS dTel o ST BT M 3R G o H T ¢ A TRl BIS dTcl B B & S BT U HA: T

&
Options :
1. ® 89:91
2. % 83:81

3.9 417 : 413
4. % 293 :217

Question Number : 117 Question Id : 92775914321 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Study the following pie-chart and the table and answer the question based on them.




Proportion of Population of Five
cities

City P [Q |[R [S T

% of unemployed | 28 | 32 |45 |13 11
Population

What percent of total population in all five cities together is unemployed?
Options :

1. # 41.23 percent

2. % 18.63 percent

3. ¥ 24.66 percent

4. % 29 .46 percent

Question Number : 117 Question Id : 92775914321 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 4123 gfderd
2. % 18.63 Ufard
3. ¢ 24.66 Ufa2d
4. % 29 46 YfaId

Question Number : 118 Question Id : 92775914322 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Study the following pie-chart and the table and answer the question based on them.



Proportion of Population of Five
cities

City P [Q |[R [S T

% of unemployed | 28 | 32 |45 |13 11
Population

If the total population of all the five cities is 6000, then what is the number of employed people in city R?
Options :
1. % 548
2. ¥ 660
3. % 572
4. % 636

Question Number : 118 Question Id : 92775914322 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % 548
2. ¢ 660
3. % 572
4. % 636

Question Number : 119 Question Id : 92775914323 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The bar graph shows the number of companies registered in Sensex, Nifty50 and Nifty100 in various decades.



B Sensex ®m Nifty50 m Nifty100

365

1980 1990 2000 2010 2020
In which decade, the average of the registered companies is the maximum?
Options :
1. % 1980
2. ¥ 1990
3. % 2000
4. % 2010

Question Number : 119 Question Id : 92775914323 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 1980

2.+ 1990

3. % 2000

4. % 2010

Question Number : 120 Question Id : 92775914324 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The bar graph shows the number of companies registered in Sensex, Nifty50 and Nifty100 in various decades.



B Sensex ®m Nifty50 m Nifty100

365

1980 1990 2000 2010 2020

In which decade, the percentage increase or decrease in the number of registered companies in “Sensex” is maximum as compared to the
previous decade?

Options :
1. % 2000
2. % 2020
3. %1990
4. % 2010

Question Number : 120 Question Id : 92775914324 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % 2000
2. % 2020
3. %1990
4. % 2010

General English1

Group Number : 7
Group Id : 927759559
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20

Is this Group for Examiner? : No



General English1

Section Id : 927759595
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 927759736
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 92775914325 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

Last night the people in our society assembled to discussing the sewage problem in the locality.
Options :

1. # Last night the people in our society

2. % assembled to discussing the

3. % sewage problem in the locality.

4. % No Error

Question Number : 121 Question Id : 92775914325 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.



Last night the people in our society assembled to discussing the sewage problem in the locality.
Options :

1. #® Last night the people in our society

2. ¥ assembled to discussing the

3. # sewage problem in the locality.

4. % No Error

Question Number : 122 Question Id : 92775914326 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

The dacoit dares not go out because he is afraid of being recognized by the police.
Options :

1. ¥ The dacoit dares not

2. % g0 out because he is afraid of

3. # being recognized by the police.

4. # No Error

Question Number : 122 Question Id : 92775914326 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

The dacoit dares not go out because he is afraid of being recognized by the police.
Options :

1. ¥ The dacoit dares not

2. % go out because he is afraid of

3. # being recognized by the police.

4. ® No Error



Question Number : 123 Question Id : 92775914327 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

Indians are making waves throughout the world: their ideas and technical knowledge have yielded unprecedented growth on income and
employment.

Options :

1. # Indians are making waves throughout

2. # the world, their ideas and technical knowledge have yielded
3. ¥ unprecedented growth on income and employment.

4. ¥ No Error

Question Number : 123 Question Id : 92775914327 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

Indians are making waves throughout the world: their ideas and technical knowledge have yielded unprecedented growth on income and
employment.

Options :

1. # Indians are making waves throughout

2. % the world, their ideas and technical knowledge have yielded
3. ¥ unprecedented growth on income and employment.

4. % No Error

Question Number : 124 Question Id : 92775914328 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.



If the IT sector continues to grow at the same rate for some months, it will have definitely a high growth rate this year.
Options :

1. ® If the IT sector continues to grow

2. % at the same rate for some months, it

3. ¥ will have definitely a high growth rate this year.

4. % No Error

Question Number : 124 Question Id : 92775914328 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

If the IT sector continues to grow at the same rate for some months, it will have definitely a high growth rate this year.
Options :

1. % If the IT sector continues to grow

2. % at the same rate for some months, it

3. ¥ will have definitely a high growth rate this year.

4. # No Error

Question Number : 125 Question Id : 92775914329 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

Japan demonstrated its supremacy in space when it successfully launched into its third satellite into orbit yesterday.
Options :

1. #® Japan demonstrated its supremacy

2. ¥ in space when it successfully launched into

3. # its third satellite into orbit yesterday.

4. % No Error



Question Number : 125 Question Id : 92775914329 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

Japan demonstrated its supremacy in space when it successfully launched into its third satellite into orbit yesterday.
Options :

1. # Japan demonstrated its supremacy

2. % in space when it successfully launched into

3. * its third satellite into orbit yesterday.

4. % No Error

Question Number : 126 Question Id : 92775914330 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
improvement’.

The temperature was warm enough to be outside, and there was no rain for dealing in.
Options :

1. ¥ to deal with

2. % to dealing with

3. # in dealing with

4. ¥ No improvement

Question Number : 126 Question Id : 92775914330 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
improvement’.

The temperature was warm enough to be outside, and there was no rain for dealing in.



Options :

1. ¥ to deal with

2. % to dealing with
3. # in dealing with

4. ¥ No improvement

Question Number : 127 Question Id : 92775914331 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
improvement’.

The good thing about having a big family, all living together, is having the supporting, and not being lonely.

Options :

1. # were having the support
2. % is having the support

3. # are having the support

4. % No improvement

Question Number : 127 Question Id : 92775914331 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
improvement’.

The good thing about having a big family, all living together, is having the supporting, and not being lonely.
Options :

1. # were having the support

2. ¥ is having the support

3. % are having the support

4. ¥ No improvement

Question Number : 128 Question Id : 92775914332 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
improvement’.

Our team providing a best quality food to all sizes of events, from corporate dinners to weddings.
Options :

1. # provide a best
2. # provided a best
3. % provides the best

4. ¥ No improvement

Question Number : 128 Question Id : 92775914332 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
improvement’.

Our team providing a best quality food to all sizes of events, from corporate dinners to weddings.

Options :

1. # provide a best

2. % provided a best
3. ¥ provides the best
4. % No improvement

Question Number : 129 Question Id : 92775914333 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
improvement’.

It is vital that we create conditions which mean more people are keen to walk more often.
Options :

1. # are keen to walking more often



2. * is keen to walk more often
3. # is often keen to walk more

4. ¥ No improvement

Question Number : 129 Question Id : 92775914333 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
improvement’.

It is vital that we create conditions which mean more people are keen to walk more often.

Options :

1. # are keen to walking more often
2. # is keen to walk more often

3. # is often keen to walk more

4. ¥ No improvement

Question Number : 130 Question Id : 92775914334 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select No
substitution required.

The people living in the coastal areas experience a interested phenomenon.
Options :

1. # the interested phenomenon

2. # interestingly phenomenon

3. % an interesting phenomenon

4. ¥ No substitution required

Question Number : 130 Question Id : 92775914334 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select No
substitution required.

The people living in the coastal areas experience a interested phenomenon.

Options :

1. # the interested phenomenon
2. % interestingly phenomenon
3. ¥ an interesting phenomenon

4. % No substitution required

Question Number : 131 Question Id : 92775914335 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

Ignoring the existence of these students and their educational needs only the ignorance.
Options :

1. % furthers

2. # farther

3. % further

4. % furthering

Question Number : 131 Question Id : 92775914335 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

Ignoring the existence of these students and their educational needs only the ignorance.
Options :

1. ¥ furthers

2. % farther

3. # further

4. # furthering



Question Number : 132 Question Id : 92775914336 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

Many have attended rehearsal classes five nights a week and of them seven days a week.
Options :

1. = few

2. ¥ afew

3. % little

4. = alittle

Question Number : 132 Question Id : 92775914336 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

Many have attended rehearsal classes five nights a week and of them seven days a week.
Options :

1. * few

2. ¥ afew

3. # little

4. * alittle

Question Number : 133 Question Id : 92775914337 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

As dawn was beginning to show , the horse stopped and refused to walk any further.
Options :

1. # herself



2. * himself
3.+ itself

4. % oneself

Question Number : 133 Question Id : 92775914337 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

As dawn was beginning to show , the horse stopped and refused to walk any further.
Options :

1. # herself

2. # himself

3. % itself

4. % oneself

Question Number : 134 Question Id : 92775914338 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

I was brought in the same room as Lucy, the doctors had mentioned this was the only room left.
Options :

1. # from

2. % till

3. # though

4. ¥ since

Question Number : 134 Question Id : 92775914338 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.



I was brought in the same room as Lucy, the doctors had mentioned this was the only room left.
Options :

1. % from

2. % till

3. # though

4. ¥ since

Question Number : 135 Question Id : 92775914339 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

From an early age heavy burden fell on their shoulders but they responded with great courage and commitment.
Options :

1.¥a

2. % an

3. % the

4. # No article is required

Question Number : 135 Question Id : 92775914339 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

From an early age heavy burden fell on their shoulders but they responded with great courage and commitment.
Options :

1.¥ a

2. % an

3. % the

4. # No article is required

Question Number : 136 Question Id : 92775914340 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Parts of a sentence have been jumbled up. Arrange these parts in a meaningful order.

A. Reserve Bank of India (RBI) governor Shaktikanta Das

B. to deal with the impact of deadly

C. on Friday announced a 75 basis points cut in its benchmark repo rate
D. coronavirus outbreak on the economy

Options :

1. ¥ ACDB
2. ¥ ACBD
3. % ABDC
4. % ABCD

Question Number : 136 Question Id : 92775914340 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Parts of a sentence have been jumbled up. Arrange these parts in a meaningful order.

A. Reserve Bank of India (RBI) governor Shaktikanta Das

B. to deal with the impact of deadly

C. on Friday announced a 75 basis points cut in its benchmark repo rate
D. coronavirus outbreak on the economy

Options :

1. ¥ ACDB
2. % ACBD
3. % ABDC
4. % ABCD

Question Number : 137 Question Id : 92775914341 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Parts of a sentence have been jumbled up. Arrange these parts in a meaningful order.

A. the 21-day lockdown imposed by the government.
B. named Pradhan Mantri Garib Kalyan Yojana yesterday,



C. to mitigate the hardship caused by
D. Finance minister Nirmala Sitharaman announced a Rs 1.70 lakh crore relief package

Options :

1. # DBAC
2. # DCBA
3. ¥ DBCA
4. ¥ DCAB

Question Number : 137 Question Id : 92775914341 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Parts of a sentence have been jumbled up. Arrange these parts in a meaningful order.

A. the 21-day lockdown imposed by the government.

B. named Pradhan Mantri Garib Kalyan Yojana yesterday,

C. to mitigate the hardship caused by

D. Finance minister Nirmala Sitharaman announced a Rs 1.70 lakh crore relief package

Options :

1. # DBAC
2. # DCBA
3. ¥ DBCA
4. ¥ DCAB

Question Number : 138 Question Id : 92775914342 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arrange the jumbled sentences to make a meaningful paragraph.

A. I’ve never heard a good explanation.

B. In fact differences could be dramatic.

C. In the British army, Indian soldiers had a case fatality rate of 22%, while British troops at the same location had case fatality rates of 9%.
D. Medical care was roughly the same.

Options :

1. # ABDC



2. ® BADC
3. ¥ BDCA
4. % ABCD

Question Number : 138 Question Id : 92775914342 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arrange the jumbled sentences to make a meaningful paragraph.

A. I’ve never heard a good explanation.

B. In fact differences could be dramatic.

C. In the British army, Indian soldiers had a case fatality rate of 22%, while British troops at the same location had case fatality rates of 9%.
D. Medical care was roughly the same.

Options :

1. % ABDC
2. % BADC
3. % BDCA
4. ¥ ABCD

Question Number : 139 Question Id : 92775914343 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arrange the jumbled sentences to make a meaningful paragraph.

A. Unfortunately, by 10th January 2020, Dr. Li Wenliang started displaying symptoms of coronavirus infection and passed away on 7th February
2020.

B. On 30th December 2019, Dr. Li Wenliang, an ophthalmologist working at Wuhan Central Hospital sent a first warning about the deadly
coronavirus outbreak to his fellow medics in a chat group.

C. His death sparked outrage in China, leading to an investigation by the country’s highest anti-corruption agency.

D. The message went viral in China and four days later he was summoned by Police and was reprimanded for making false comments that
severely disturbed the social order.

Options :

1. ¥ BDAC

2. % BDCA

3. ¥ BACD



4. % BADC

Question Number : 139 Question Id : 92775914343 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arrange the jumbled sentences to make a meaningful paragraph.

A. Unfortunately, by 10th January 2020, Dr. Li Wenliang started displaying symptoms of coronavirus infection and passed away on 7th February
2020.

B. On 30th December 2019, Dr. Li Wenliang, an ophthalmologist working at Wuhan Central Hospital sent a first warning about the deadly
coronavirus outbreak to his fellow medics in a chat group.

C. His death sparked outrage in China, leading to an investigation by the country’s highest anti-corruption agency.

D. The message went viral in China and four days later he was summoned by Police and was reprimanded for making false comments that
severely disturbed the social order.

Options :

1. ¥ BDAC
2. % BDCA
3. ¥ BACD
4. % BADC

Question Number : 140 Question Id : 92775914344 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym of the given word.

Agitation
Options :
1. # Reform
2. ¥ Anxiety
3. % Concern

4. % Dependence

Question Number : 140 Question Id : 92775914344 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym of the given word.

Agitation
Options :
1. #* Reform
2. ¥ Anxiety
3. % Concern

4. % Dependence
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Question Number : 141 Question Id : 92775914345 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym of the given word.

Circumspect
Options :

1. * Immediate
2. % Negligent
3. ¥ Careful

4. * Regardful

Question Number : 141 Question Id : 92775914345 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym of the given word.

Circumspect
Options :

1. # Immediate
2. % Negligent
3. % Careful

4. % Regardful

Question Number : 142 Question Id : 92775914346 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate antonym of the given word.

Discordant



Options :

1. # Inaccurate
2. # Fallible

3. # Opposition

4. ¥ Harmonious

Question Number : 142 Question Id : 92775914346 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate antonym of the given word.

Discordant
Options :

1. # Inaccurate
2. # Fallible

3. % Opposition

4. % Harmonious

Question Number : 143 Question Id : 92775914347 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate antonym of the given word.

Submissive
Options :

1. ¥ Obstinate
2. # Faithful

3. % Courteous
4. ¥ Obligatory

Question Number : 143 Question Id : 92775914347 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the most appropriate antonym of the given word.

Submissive
Options :

1. ¥ Obstinate
2. % Faithful

3. ® Courteous
4. % Obligatory

Question Number : 144 Question Id : 92775914348 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the incorrectly spelt word.
Options :

1. # Generation

2. ¥ Independance

3. ¥ Symbolic

4. % Confinement

Question Number : 144 Question Id : 92775914348 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the incorrectly spelt word.
Options :

1. # Generation

2. ¥ Independance

3. % Symbolic

4. % Confinement

Question Number : 145 Question Id : 92775914349 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the incorrectly spelt word.
Options :

1. % Refinement

2. ®% Conclusive

3. % Insicive

4. % Staggering

Question Number : 145 Question Id : 92775914349 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the incorrectly spelt word.
Options :

1. # Refinement

2. % Conclusive

3. ¥ Insicive

4. % Staggering

Question Number : 146 Question Id : 92775914350 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the incorrectly spelt word.
Options :

1. # Gregarious

2. % Impeachment

3. % Retardation

4. ¥ Refurbeshment

Question Number : 146 Question Id : 92775914350 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the incorrectly spelt word.
Options :



1. # Gregarious

2. % Impeachment
3. % Retardation

4. ¥ Refurbeshment

Question Number : 147 Question Id : 92775914351 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the incorrectly spelt word.
Options :

1. ¥ Omnisceint

2. # Irrevocable

3. # Retaliatory

4. # Jocundity

Question Number : 147 Question Id : 92775914351 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the incorrectly spelt word.
Options :

1. ¥ Omnisceint

2. % Trrevocable

3. # Retaliatory

4. # Jocundity

Question Number : 148 Question Id : 92775914352 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the underlined idiom in the given sentence.

You helped me last week, so I'll return the favor and do your filing.
Options :




1. # To be friendly
2. % To reciprocate one’s actions
3. % To perform a task

4. % To be concerned

Question Number : 148 Question Id : 92775914352 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the underlined idiom in the given sentence.

You helped me last week, so I'll return the favor and do your filing.

Options :

1. #* To be friendly

2. % To reciprocate one’s actions
3. # To perform a task

4. % To be concerned

Question Number : 149 Question Id : 92775914353 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the underlined idiom in the given sentence.

It was really just a shot in the dark when I tried to fix our washing machine, but [ was actually able to get it working again on my first try!

Options :

1. # An act in the wrong direction
2. # Anillegal act

3. % A guess or an estimate

4. ® To work at night

Question Number : 149 Question Id : 92775914353 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the underlined idiom in the given sentence.



It was really just a shot in the dark when I tried to fix our washing machine, but I was actually able to get it working again on my first try!

Options :

1. # An act in the wrong direction
2. # Anillegal act

3. % A guess or an estimate

4. # To work at night

Question Number : 150 Question Id
Orientation : Vertical

: 92775914354 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Cut one some slack
Options :

1. # To work carelessly
2. % To perform a prayer
3. % To be cautious

4. % To be more lenient with one

Question Number : 150 Question Id
Orientation : Vertical

: 92775914354 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Cut one some slack
Options :

1. # To work carelessly
2. % To perform a prayer
3. ¥ To be cautious

4. % To be more lenient with one

Question Number : 151 Question Id

: 92775914355 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

The eternal checkout
Options :

1. % Death

2. ® Permission

3. % Discipline

4. % Enmity

Question Number : 151 Question Id : 92775914355 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

The eternal checkout
Options :

1. ¥ Death

2. # Permission

3. # Discipline

4. ® Enmity

Question Number : 152 Question Id : 92775914356 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.

Relating to or resembling a dog or dogs.
Options :

1. # Feline

2. ¥ Canine

3. # Bovine



4. * Vulpine

Question Number : 152 Question Id : 92775914356 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.

Relating to or resembling a dog or dogs.
Options :

1. # Feline

2. % Canine

3. * Bovine

4. # Vulpine

Question Number : 153 Question Id : 92775914357 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.

Open to more than one interpretation; not having one obvious meaning.
Options :

1. #* Enigmatic

2. % QOpaque

3. % Ambiguous

4. % Cryptic

Question Number : 153 Question Id : 92775914357 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.

Open to more than one interpretation; not having one obvious meaning.
Options :



1. # Enigmatic
2. # Opaque

3. % Ambiguous
4. # Cryptic

Question Number : 154 Question Id : 92775914358 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.

Extreme or irrational fear of confined places.
Options :

1. # Acrophobia

2. % Hydrophobia

3. # Arachnophobia

4. ¥ Claustrophobia

Question Number : 154 Question Id : 92775914358 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.

Extreme or irrational fear of confined places.
Options :

1. % Acrophobia

2. % Hydrophobia

3. ¥ Arachnophobia

4. ¥ Claustrophobia

Question Number : 155 Question Id : 92775914359 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.



A pupil who stays away from school without leave or explanation.
Options :

1. % Truant

2. # Absconder

3. % Renegade

4. % Recluse

Question Number : 155 Question Id : 92775914359 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.

A pupil who stays away from school without leave or explanation.
Options :

1. % Truant

2. % Absconder

3. % Renegade

4. ® Recluse

Sub-Section Number : 2
Sub-Section Id : 927759738
Question Shuffling Allowed : Yes

Question Id : 92775914360 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (156 to 160)
Read the passage carefully and select the best answer to each question out of the given four alternatives.

The Nuremberg trials were a series of military tribunals held after World War II by the allied forces under international laws and the laws of war.
The trials were most notable for the prosecution of prominent members of the political, military, judicial, and economic leadership of Nazi
Germany, who planned, carried out, or otherwise participated in the Holocaust and other war crimes. The trials were held in Nuremberg,
Germany, and their decisions marked a turning point between classical and contemporary international law.

The first and best known of the trials was that of the major war criminals before the International Military Tribunal (IMT). It was described as



"the greatest trial in history" by Sir Norman Birkett, one of the British judges present throughout. Held between 20 November 1945 and 1
October 1946, the Tribunal was given the task of trying 24 of the most important political and military leaders of the Third Reich. Martin
Bormann had, unknown to the Allies, died in May 1945 and was ‘trial in absentia’. Another defendant, Robert Ley, committed suicide within a
week of the trial's commencement.

Adolf Hitler and Joseph Goebbels had both committed suicide in the spring of 1945 to avoid capture. Heinrich Himmler committed suicide one
day after being arrested by British forces. Heinrich Miiller disappeared the day after Hitler's suicide, the most senior figure of the Nazi regime
whose fate remains unknown. Josef Terboven killed himself with dynamite in Norway in 1945. Adolf Eichmann fled to Argentina to avoid
capture but was apprehended by Israel's intelligence service (Mossad) and hanged after a trial in Jerusalem in 1962. Hermann Go6ring was
sentenced to death but committed suicide by swallowing cyanide the night before his execution.

Sub questions

Question Number : 156 Question Id : 92775914361 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What does the term ‘trial in absentia’ refer to?

Options :

1. # The person involved is not guilty

2. % The person involved is not present

3. % The person involved is set free due to lack of evidence

4. # The person involved dies after the trial

Question Number : 157 Question Id : 92775914362 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Nuremberg trials were held under international laws and the laws of war by—
Options :

1. # Axis powers

2. ¥ Allied powers

3. % Both Allied and Axis powers

4. # United Nations

Question Number : 158 Question Id : 92775914363 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The first and best known of the trials was that of the major war criminals. Who described it as ‘the greatest trial in History’?
Options :

1. ¥ Martin Bormann

2. ®% Robert Ley

3. % Norman Birkett

4. % Heinrich Himmler

Question Number : 159 Question Id : 92775914364 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The Nuremberg trials were carried in—
Options :

1. #¥ United States of America

2. # Britain

3. ¥ Germany

4. % Austria

Question Number : 160 Question Id : 92775914365 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The only person who killed himself with dynamite was—
Options :

1. ¥ Josef Terboven

2. % Hermann Goring

3. # Adolf Eichmann

4. % Heinrich Himmler

Question Id : 92775914360 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (156 to 160)
Read the passage carefully and select the best answer to each question out of the given four alternatives.

The Nuremberg trials were a series of military tribunals held after World War II by the allied forces under international laws and the laws of war.



The trials were most notable for the prosecution of prominent members of the political, military, judicial, and economic leadership of Nazi
Germany, who planned, carried out, or otherwise participated in the Holocaust and other war crimes. The trials were held in Nuremberg,
Germany, and their decisions marked a turning point between classical and contemporary international law.

The first and best known of the trials was that of the major war criminals before the International Military Tribunal (IMT). It was described as
"the greatest trial in history" by Sir Norman Birkett, one of the British judges present throughout. Held between 20 November 1945 and 1
October 1946, the Tribunal was given the task of trying 24 of the most important political and military leaders of the Third Reich. Martin
Bormann had, unknown to the Allies, died in May 1945 and was ‘trial in absentia’. Another defendant, Robert Ley, committed suicide within a
week of the trial's commencement.

Adolf Hitler and Joseph Goebbels had both committed suicide in the spring of 1945 to avoid capture. Heinrich Himmler committed suicide one
day after being arrested by British forces. Heinrich Miiller disappeared the day after Hitler's suicide, the most senior figure of the Nazi regime
whose fate remains unknown. Josef Terboven killed himself with dynamite in Norway in 1945. Adolf Eichmann fled to Argentina to avoid
capture but was apprehended by Israel's intelligence service (Mossad) and hanged after a trial in Jerusalem in 1962. Hermann Goring was
sentenced to death but committed suicide by swallowing cyanide the night before his execution.

Sub questions

Question Number : 156 Question Id : 92775914361 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What does the term ‘trial in absentia’ refer to?

Options :

1. # The person involved is not guilty

2. % The person involved is not present

3. % The person involved is set free due to lack of evidence

4. # The person involved dies after the trial

Question Number : 157 Question Id : 92775914362 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Nuremberg trials were held under international laws and the laws of war by—
Options :

1. # Axis powers

2. ¥ Allied powers

3. % Both Allied and Axis powers

4. % United Nations



Question Number : 158 Question Id : 92775914363 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The first and best known of the trials was that of the major war criminals. Who described it as ‘the greatest trial in History’?
Options :

1. ¥ Martin Bormann

2. ®% Robert Ley

3. % Norman Birkett

4. % Heinrich Himmler

Question Number : 159 Question Id : 92775914364 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The Nuremberg trials were carried in—
Options :

1. #¥ United States of America

2. # Britain

3. ¥ Germany

4. % Austria

Question Number : 160 Question Id : 92775914365 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The only person who killed himself with dynamite was—
Options :

1. ¥ Josef Terboven

2. % Hermann Goring

3. # Adolf Eichmann

4. % Heinrich Himmler
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Question Number : 161 Question Id : 92775914366 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frferRed # & <=Ie Weg 1 = HITT-
Options :

1. % Tref

2. % glgdY



3. ¢33
4. % gicq

Question Number : 161 Question Id : 92775914366 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AR o 9 GRIS e DT T BT
Options :

1. % Tref

2. % GITR

3. 88

4. % qicd

Question Number : 162 Question Id : 92775914367 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
R fied! 3 2 et g aam 2
Options :

1. ¥ DI

2. ® HiABI

3. % gUIgH

4. % Y g1

Question Number : 162 Question Id : 92775914367 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFrfaRad famedl o 9 foad fg] 9uma g2
Options :

1. ¢ 3CHIT]

2. ® HidBI

3. % gyIgH



4. % AIH BN

Question Number : 163 Question Id : 92775914368 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Frfafed o 9 SH-91 < HfY &1 316l ) o7
Options :

1. # [HMEIR

2. % fagre™

3. ¢ T

4. % TG

Question Number : 163 Question Id : 92775914368 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fefifed o 9 SH-91 < HfY 1 Iareu 8 o7
Options :

1. * MHEIR

2. % faemerm

3. ¥ IR

4. % SEICRT

Question Number : 164 Question Id : 92775914369 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f=foRed o @ Swjad fawed &1 9g HifoTe-
A gaad it den gl
Options :

1% 4

2. ¢ TRE



3. % N8

4. % {Id

Question Number : 164 Question Id : 92775914369 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f=faRed # @ Swad fddwed &1 9g HifoTe-
fewat ¥ ga d=Hl &1 e gl

Options :

1%

2. ¥ WRg
3. % g

4. % {Id

Question Number : 165 Question Id : 92775914370 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FAfIREd & @ SH-91 a1 3[HHD (ohaT BT IGTERUI 151 57
Options :

1. % 3fchl A 5

2. % ARG g 5|

3. % gHA @5

4. ¢ GO Pedld Qadl g

Question Number : 165 Question Id : 92775914370 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ARG T ¥ HIF-91 a1 U fohdl BT IGIER 1ol 62

Options :

1. % 3eHIAAT B




2. % JAfgd g B
3. % gHT W@IAT G|
4. ¢ SO Pedd Qadl 3|

Question Number : 166 Question Id : 92775914371 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFffEd & @ $1H-91 Woa HH BT Gaigard Tl 6?2
Options :

1. % &

2. % X[dad

3. ¥ Y

4. % 3{gl

Question Number : 166 Question Id : 92775914371 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FfiRed o 9 SH-91 Wea S ST uaiaard 781 52
Options :

1. % &

2. % Xdad

3. ¥ Y

4. % 3{gol

Question Number : 167 Question Id : 92775914372 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f=fafed 3 o &1 foay weg | g?
Options :

1. % fqoargy

2. % Az



3. % fiRWR
4. ¢ faBTaqE

Question Number : 167 Question Id : 92775914372 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e & 9§ gaage &1 fae e 11 5?
Options :

1. % faorargg

2. % fAzdw

3. % fORPR

4. ¢ faebragE

Question Number : 168 Question Id : 92775914373 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ao B & faw e Sree-gm & wet o Ne &1 99 I
3fa - gfa

Options :

1. ¢ IS - Y
2. % PP - Y1

3. % YHdT - Iad

4. % BT - I

Question Number : 168 Question Id : 92775914373 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR o 9 faU 7T Wreg-g & Tal 37-13g &1 99 BifoTe-
gid - $fd

Options :



1. ¢ QIS - MU
2. % PP - Y1
3. % YA - i
4. % BT - GG

Question Number : 169 Question Id : 92775914374 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FAfIRIT T ¥ D19-91 Xeg ST 1 Uaigar g2
Options :

1. % fqmg

2. % 3RUY

3. % o

4. % drd

Question Number : 169 Question Id : 92775914374 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FrEfIRed & @ SH-91 Weg ST F1 garare g2
Options :

1. % (4arg

2. % 3RUY

3. % g

4, % dr{d

Question Number : 170 Question Id : 92775914375 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
"Bl oR ST aret o forg fgwet & Ffafad & 3 &1F 91 Xeg Wgad 8T 62

Options :

1. % HR




2. % WM

3. % gO@
4. « el

Question Number : 170 Question Id : 92775914375 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"HIE ot il arett & fore fewat # f=ifaiRea o @ &1 91 e Tgad Bidl 82
Options :

1. ® HTR

2. % HHHT

3. % HHd

4. Hiieh

Question Number : 171 Question Id : 92775914376 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fArfeRad o ¥ g g &1 99 Hifod-
Options :

1. ¢ W@

2. % 3FUEId

3. % 3H{dYDh

4. % 3Ulg

Question Number : 171 Question Id : 92775914376 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

=R O 9 Y[g e o1 I0- Bifort-
Options :
1. ¢ W@

2. % 3UEId



3. % 3{aYh
4. % 3dle

Question Number : 172 Question Id : 92775914377 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AR H 9§ SRETa/aH RTeg 1 Ia Pifoil-
Options :

1. % SRl

2. % O

3. ¢ RIamR

4.% O3

Question Number : 172 Question Id : 92775914377 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
freferRad # 9 SRiTTd/sHd Req BT TG BHifoTe-
Options :

1. % S

2. % O

3. ¢ RIdwR

4.% %

Question Number : 173 Question Id : 92775914378 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frfeRed # @ 4R 39 1 RIRT HId &1 82
Options :

1. % 38

2. % Qb

3. % fagmn



4. ¥ 3

Question Number : 173 Question Id : 92775914378 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f=frfad B T §TR 9 &1 RiRh vra ®1 82
Options :

1. % 35

2. % XM

3. % fagmn

4. ¢ 3d

Question Number : 174 Question Id : 92775914379 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Frfefed o & o 2ree 31 90 HIfTL-
Options :

1. % 3fugfd

2. % ITATNHD

3. % 3wdd]

4.« 3

Question Number : 174 Question Id : 92775914379 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feTfeTRad & U 315 XMeq BT T PifoiL-
Options :

1. % 3Ogfd

2. % 3reATfdID

3. % 3sdd

4.« 3



Question Number : 175 Question Id : 92775914380 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fAEffed o T Teq & Y T D1 I PITOTT-
Options :

1. % QIR

2. % AHAIff

3. ¢ QTR

4. % qWRM

Question Number : 175 Question Id : 92775914380 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fAEffed O T Teg & Y U D1 I PIfoTT-
Options :

1. % STIRT!

2. % QAR

3. ¢ AL

4. % ARRM

Question Number : 176 Question Id : 92775914381 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fEfoRad | O Wi Wsg &1 994 PIfoTe-
Options :

1. ¢ faepge

2. % UihaM

3. # feRTIGH

4. % HIEG



Question Number : 176 Question Id : 92775914381 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FrefifRd & § Wi 21ea o1 90 IR
Options :

1. ¢ fpeige

2. % GlbgH

3. % RRITGM

4. % HHEQ

Question Number : 177 Question Id : 92775914382 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fEfaRad H T Thae Weg &1 II9 Hifole-
Options :

1. % QN

2. % Y07

3. ¥ 1]

4. % SR

Question Number : 177 Question Id : 92775914382 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fAEfeRad A T Udhae Wsg BT I Hifole-
Options :

1. % QR

2. % TIO7

3. ¥ Bg

4. % RN

Question Number : 178 Question Id : 92775914383 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

o I &1 TR gl ST a1 3 & fou fpaT ST g, 98 wead g
Options :

1. % s 9d9m

2. % TYdrad I

3. % fASara® ggH

4. ¥ JSYATadH T

Question Number : 178 Question Id : 92775914383 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I 1 HT YA aqa N a1 3 & fu frar ST g, 98 Feadi gl
Options :

1. % fogdara® 949

2. % TSYdTad FIH

3. % fAS/ara® g9

4. ¥ GRVATED Jd-H

Question Number : 179 Question Id : 92775914384 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ffRed & § DF-91 T 3 YddbTd &1 82

Options :

1. % SRTH A QU B! AR

2. % 3G 7 YR W I fobar T

3.« BT 3t W I3 B

4. % YR 2011 Tea Y HIsTd T SitdT UT|

Question Number : 179 Question Id : 92775914384 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
fEfRed o § DH-91 a1 3 YddbTd &1 g2

Options :

1. % $RTH = 7901 B! AR

2. % 3G A YR W I fopar T

3. « BT 3t T I3 B

4. % YR 2011 Tea Y HIsTd T SitdT UT|

Question Number : 180 Question Id : 92775914385 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rrefeife & . 4l e &7 Ve T &
Options :

1. # gH

2. % G

3. % gdodrg

4. ¢ AHHT

Question Number : 180 Question Id : 92775914385 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
RrERIRE & Q a1 Wi 1 & g 78 &
Options :

1. = gH=g

2. % g™

3. % gdegHe

4. % 3

General Hindi2
Group Number : 10



Group Id : 927759562

Group Maximum Duration : 0

Group Minimum Duration : 120

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
General Hindi2

Section Id : 927759598

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 16

Number of Questions to be attempted : 16

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 927759740

Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 92775914386 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fr=faRad & I foy area & Sad Y& Yaras (Jd-TH) &7 T g3 82
Options :

1. ® A B qarl 4T gte grft

2. ¥ TH TS R 3R W1 A1 |

3. % 30 d6R Y e AT

4. % 38 4 gH Weld @l 5|




Question Number : 181 Question Id : 92775914386 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrefefed o 3 food aTes H IciH Revar=eh (FdHTH) BT T g3 82
Options :

1. ® AP Hd Sar o gLe grft

2. ¥ TH TS R 3R W A1y |

3. % 30 d6R Y e |

4. % 30 <! GHI Werd W6d 8|

Question Number : 182 Question Id : 92775914387 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fffad o 9 HH-91 A/ Hared &1 3aTerul 82
Options :

1. % SR Y AW I 8! off TET|

2. % fowuy O =781 T |

3. % STeih! gIRT AT T 47|

4. ¢ A1 TP Ugdl o |

Question Number : 182 Question Id : 92775914387 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f=fefed o ¥ SH-31 a1 Hared BT 3aTeR0T 82
Options :

1. % R AN g1 ol ol &7

2. % fqwy ¥ 9&l yer w1l

3. % STl gRT T 7T

4. ¢ g I UGl g |



Question Number : 183 Question Id : 92775914388 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fefeRad # ¥ SWjad fadhed &1 9g- Hifo-

WIgT b T BT &R T ST T Gfid 81 8, I8! gI 5|
Options :

1. % g HRB
2. % YT HRB
3. ¢ 3(UIGH HRD
4. % JWIGH HRH

Question Number : 183 Question Id : 92775914388 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f=fRed o @ Swjad fdewed &1 99 HifoTe-
6T U U BT gu) I A ST S Yd Sy, 98 g

Options :

1. % & PRP
2. % YT PRSP
3. ¢ UG PRP
4. % JHIGIH HRP

Question Number : 184 Question Id : 92775914389 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frfofed & 9 Y are &1 99 HifvTe-

Options :

1. % T AT 3O HTH R |

2.« G AT IM 6 H HA SN @I g
3. % JYD! 3fad qIDhR W T8




4, % IRY I WR H SHTT ET

Question Number : 184 Question Id : 92775914389 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fAEfRed O T Y a1 &1 99 BifTL-
Options :

1. % gl ART 301 HTH BRI |

2. ¢ T RTTH fb H HFA N W@WEI

3. % JYD! 3fad daDhR Wl T8

4. % IR AT WR H ST ETH

Question Number : 185 Question Id : 92775914390 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAEfeRad A T feU U 9199 & TSR &1 I BHIfoTu-
™R T fayrg g f yRd Siam|

Options :

1. % Hhddrad are

2. % Hcgardd ard

3. g |

4. % fquqaTieaiysd arey

Question Number : 185 Question Id : 92775914390 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAEfaRad ¥ 9 3T U a1 & UHR &1 I9 Difole-
T 2¢ [y § i WRa S|

Options :

1. ® bhdarged ai




2. % YegarEd dI
3.« Ay Iy
4. % fowgIicaiys arag

Question Number : 186 Question Id : 92775914391 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frfoRad & 9 U 7T a1ed o IR a1 | uikafiad o 3 [ddhed &1 9 Hifo -
STHT = T YR ol 3R SRR Bl IR |

Options :

1. % 3I&PT 7 AT L& B SR B S|

2. % TP AFR I Bl TS |

3. % 3T 3 TR fhu1 A1 IR I & |
4. ¢ 3BT GU SR & TS |

Question Number : 186 Question Id : 92775914391 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

et # 9 fau U 9 &) WRa are # uRafdd & 3fad e &1 97 Sifor -
3BT 3 I IR fhaT 3R SE B IS |

Options :

1. ® 35T A I E R 98I Bl TR |

2. % IATHIAB BB TS|

3. % 3[BT = YR fpa1 AT 3R SRR &) 7|
4. ¢ 3BT gU SR &I T |

Question Number : 187 Question Id : 92775914392 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feTfeTRad & U SIY[s aTey o1 I DITSIT-




Options :

1. ¥ 39 Y4ty &7 & Jawa Tifd g
2. % qU ¥gd 31 d¢ Y|

3. % I R YSI U1 g8 47|

4. % qO3d T &S T

Question Number : 187 Question Id : 92775914392 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fEfafed o T 3iR[g 91T &1 99 Pifore-
Options :

1. ¥ 3H U &7 § gawd ifd 8|

2. % gH g 31 9g T

3. % IR YS! U IS 47|

4, % 3 U FS U

Question Number : 188 Question Id : 92775914393 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frfoied & 9 gerert g &1 fiues feamr &1 @ o 82

Options :

1. % ATHYUl 9 ¥ diferd X

2. % SH-gHDHR GIEd A T |

3. ¢ 3= Ui Afad &1 U= Tl

4. % Qg gy g

Question Number : 188 Question Id : 92775914393 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frfRad & & geTerT g &1 S e &1 o ol 82

Options :



1. % YUl a¥g ¥ dfd 8

2. % SM-gIHR iad didt o1

3. ¥ 3= Ui oHIfod T Uiy T |
4, % g gHY g

Question Number : 189 Question Id : 92775914394 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fefoRad # @ fo gerar &1 o “Ryd aF & 3fied U8 M 8T 82
Options :

1. % T TH oAl

2. ¢ Hg g

3. % HIGX I &I

4. % oSt 1 Ome|

Question Number : 189 Question Id : 92775914394 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fr=ferfad o T fog gerak o1 o Reyd a9 &t 3Ted Us ST gidT 82
Options :

1. % oI T8 &

2. ¢ Tg g A

3. % TR T ¢TI

4. % foct o1 aTe|

Question Number : 190 Question Id : 92775914395 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fr=fied o 9 dieifad »srest afa S 9!, 9¢ I@- snsit &1 3 31 g2

Options :

1. ¢ J8-ggI & AU BT 1Y I3 Al |



2. % gl Afad fhal I BIH &) THd B # 99 81 g1 T
3. % JHYM g1 oI & 1 USdH dBR g |

4, % 309 93 I T3 QU P! 7 o8- IR AR & DI I BIC TN HI FAT BT

Question Number : 190 Question Id : 92775914395 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fefoRed o @ deifad "33t Afd S 916!, g¢ TS ol &7 /T 3 g2
Options :

1. ¢ JS-4gI & U BT d1Y I3 a1 |

2. % gl G [dhdil I BIH B! THF B H THY g1 g1 Fahd|

3. % JHYM g1 o & §1¢ TSdH dBR g
4. % 30 93 I T8 GUU P! 7 48 IR AR & DI I BIC ST DI FAT BT

Question Number : 191 Question Id : 92775914396 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rrefeiie 3 2 o eepifaa o1 ard il 81 TR aifires Rl e ghell &2
Options :

1. % 30 Uld R 319 Peglel GRAT

2. % IRl geTdhR HIgdl IR HIg AT

3. % gl B RR feam ol gae 4 | S|

4. ¢ YIS TR} Balhd SY |

Question Number : 191 Question Id : 92775914396 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frffea & @ forg Al &1 o "2isT 89 WR $ifie fe@mar s 8T 82
Options :

1. % 30 Uid IR 39 Feglo! RAT|

2. % JRHAT FeTdhR HIgal IR HIg AT




3. % 3figci # RR e ot g 9 i S|
4. ¢ YA TRI FADHd 9|

Question Number : 192 Question Id : 92775914397 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frfaRed & @ deifad "oR & 781 g, ST Iel YAH S T o 82
Options :

1. % 3{feed Do g

2. ¢ A1 T fear |

3. % 3O ITAl ¥ HH WR BT B BT

4. % S Gl 1 a% 51 e 6|

Question Number : 192 Question Id : 92775914397 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fr=ferRad & T Aieifad "o T 781 M, ST Trelt YA &1 3 g2
Options :

1. % 3{fte dhod g

2.« A1 T fear|

3. % 3O Gl ¥ ©HH TR &1 B HAT|

4. % Y3 el fe a% T8l sad |

Question Number : 193 Question Id : 92775914398 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafifea # @ fear mn g (o) PR fRg B2
Options :

1. ® fd=me g

2. % fgerur firg

3. % o g




4. ¢ JIAYgAD g

Question Number : 193 Question Id : 92775914398 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
feferad 7 3 fear mn o (=) a1 e 82
Options :

1. % Fdx® fag

2. % fqarur forg

3. % ol (g

4. ¥ JOdgTD g

Question Number : 194 Question Id : 92775914399 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFefifed o 9§ ford arerr 7 foRmm-fargl &1 9t wanT el foban 82
Options :

1. ¢ 918 fhaT Yar ger 8!

2. % TN : U JHURMY|

3. % 3RNP = YT BT GRT B e |

4. % AT B 7T ; ATTCTHT BT VI HIferdr 7 o fer |

Question Number : 194 Question Id : 92775914399 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

iR o ¥ ford o o foRm-Fergl &1 Wigt Uiy =151 ol 1T 82
Options :

1. ¢ 918 fhaT Yar ger g1

2. % TGOl : Udh UMY

3. % 3{RMep A YT HTH R A fera|

4, ® Y G T ; TATCTHT BT R SHIferdr 3 of fer|



Question Number : 195 Question Id : 92775914400 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fferRed ® @ Suded faehed &1 Tg BIfeTL-
T ¥ 31 aeqafi o axfa & forg USR]

Options :

1. % guifeR™ g
2. ¢ 3R g
3. % ArgdiaR fag
4. % ygqamu fag

Question Number : 195 Question Id : 92775914400 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFefeRad ® & Suer faehed 1 =0 HISTT-
TH 3 TP aegefi &I A & forg SUIRISIGIE

Options :

1. % guifer™ g
2. ¢ iR forg
3. % qraafoR™ fag
4. % ggag g

Sub-Section Number : 2
Sub-Section Id : 927759741
Question Shuffling Allowed : Yes

Question Id : 92775914401 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (196 to 200)

faQ U IR BT SYd S emg R U B IR HfTE-



YR (ISR ATH: HRd TTURTH, SFSHT: Republic of India) EH&0T TRMAT # UG R IUHGTEIU &1 Gad 981 ¥ 51 I8 JUl &0 ¥

I Tare § fyd g, YRa Hrnferes 2P 9 3y &1 Iradl 9ad 981 SR 8 (1.9, 2. 6181, 3.9, 4,311, 5. 560, 6.3 orT, 7.41Rd),
STafeh ST & EHI0 Y GORT Y TST 4 8 | HRd & UfH H Urfored ™, STR-Yd H 4, UTd 1R Yo, Jd & SaresT 3R TR
R §1 fes Ter R & 5Ue aférm ufdy o Aradia,gfemn & fiddr ok Sféurgd & SSHR/T I YRd & Igfad I T ¢ | 396 3T
&1 i T fgdTerd gad 3§ 3R G ¥ fgws AerR O @M g8 ¢ | Jd § §7d &1 Ere! § aul Ui & SRd IR g

T R a1et §1adT, FURT deH HeTgad IR AN 3R §9-88 ATHI! &1 [dHT-RIM I8 HRATT SUHGTEI &I 3Tb Aigpidd 3R
3 TherdT & dd g & ol ST ST 36T € 15 i fastal & uiRumaRey fafer $¥e 3ftsar ot 7 1891 iR 199 Il § HRd &
e 5l &1 3(u- e | et fern| 1857 o fawd fagig & 91g HRd & U= &1 UR {9fe TSR 7 34 S o feran| fafesr yRd
& =0 ¥ fyfesr Irea & T ST YRA A HeTE el & Add § T T 3R T80 T ¥ 3{fgadh Wd-adl GUTH & 916 15 3R 1947 &
S{TSTE U5 | 1950 B AN §T 4 WG & 38 Graoi-dh 9ok HATIGR & YR TR WU FaeT- e Aldbdite TR 9iftd & fear
T 3R GTSCS HTSH B ol IR IR el BT JHGHI TSR VI BT Y| Teb T Y, YR Pl 29 1] 3R 7 e 21RAd we=it
o e d fovan T § | e THY dd qHTSTaTe) e ifaal &1 UTer &R & §16 1991 & UHTd R A SGRIBRU 3R aafieur &t 7t

iferl & SyR W A 3M1fieh SR Ao Ui 1 5l .

33 ARG foretitiieR e & AT HIRA HRTITD 8Fhd & STUR IR f3y &1 H1adl Jad IST 1Y 511991 P SR-SMUTRT GYRT & dla
R 9y & T oo fadm i gich et Sid-rawitaf & § U 81 T § 3R 38 T 9-3iTeIghd ¥ AT ST 8 | IRg YR & e 3t
W TRIel, YUSTER, $UINYT, ST ATdsi-ds WarG-¥al 3R Tddharg dI gHIfadi ¢ | 31To HRd T [dfde), SgHTH, SR 9g-SI1d1g 99Tl §
3R YR 1 U &A1 iferd 5

Sub questions

Question Number : 196 Question Id : 92775914402 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SR TR & TR HRA = AT Mol & Ad H T T 3R T & ¥ g0 Wa-adl SUTH & §1g ®I A US|
Options :

1. % 15 3fTd 1950

2. ¥ 15 3R 1947

3. % 26 AR 1947

4. % 26 SFARI 1950

Question Number : 197 Question Id : 92775914403 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SR TR & TR T THT dP GHISTAG! T et 7 O1a- B & §1G 1991 & GYTT HRd = & SMYR W AH




e 3R FrHTSTs UAIfd ot 3|

Options :

1. % IGRIHRU B 941 ifaal

2. % JofiepRur ot R et

3. % ICRIHRU &1 R ifat ua asfiesor &t Tt o
4. ¢ ISRIHT 3R defieprur Bt 7} Hifaar

Question Number : 198 Question Id : 92775914404 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fferRad fachedl # & IwRied TTeliY &1 Ifrd v e
Options :

1. ® 1857 1 WAl TITH

2. % R 9rct Qgan

3. % W YUGHl BT SGRIBI

4. ¥ YR IUHGTGIY T 3fcgr

Question Number : 199 Question Id : 92775914405 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SR T & deu & 5 T ¥ SH-91 H37 9 781 62

Options :

1. ¢ R4, féror ol 7 fRyd YR SUHRTEY &1 TRRT T 981 <2 3|

2. % YRA & UIH T Ufehd™, ITR-Gd H 94, A97Td 3R Y, Td & arare s 3R TR f¥Ud g

3. % U Ry 91t @adT, $HRI del HeTgdId IR A 3R T8-88 AHT| &1 [A®mRI-RIT X8 HRAIT SUHETET & 3D RSP (D
3R 3T THAAT & dl 3(AeT & ford ST o1l 381 6|

4. % YRT HUrifae =Y 3 fay &1 a7dal 9ed 9813 5|

Question Number : 200 Question Id : 92775914406 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SWRITd T & Ugad Weg “UPER” § gl # ¥ o1H-91 g9 82



Options :

1. % fg 9ury

2. % gg gHNY

3. ¥ HHYRY AN

4. % qgsilfe qa™

Question Id : 92775914401 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (196 to 200)

o T TR T YD S HR Ul b IR e

YR (3BTRS TTH: YR TURTSY, SHUHH: Republic of India) G&T0T TR # R HRIT IUHGTEIU &1 Yol 981 o | I JUl &0 J
I Tae § fyd g, YRa Hrnfere P @ 3y &1 Iradl 9ad 981 SR 8 (1.9, 2. 6181, 3.3, 4,301, 5. 560, 6.3 orT, 7.41Rd),
STach ST o TPV GORT TaY 981 G 8 | HRd o UI3H H grfopd™, SR-gd H dH, 707d 3R Y, d & T $iR "R
R g1 i< 7R & gud <fémr ufdm o aracia,afenr & e oiR gfmr-yd #f SSHRr ¥ HRd &1 Irgfad A1 @ § 1 396 3R
&1 Wifae I fiFHTerg udd ¥ iR gfémr § fes 7ermR 3§ @it 88 81 d § §Td &) WTe! § adl Ufym §f 8RE UR g |

T R a1et §1adr, FHRT deH HeTgad SR AN 3R §9-89 ATHI! &1 [3HM-RIM I8 HRTT SUHGTEI & 3Tb Aigpiad 3R
3T TwhardT & dd e & ol ST ST 36T € 156 i fastal & uiRumaRey fafewr S 3ftsar ot 7 1891 iR 199 Gl # YR &
HTeaR el 1 319 g § fira fern| 1857 o fawd fagig & a1 URA & TR &1 YR fofc TRHR A 304 SR o feran| fofesr yRa
& =U ¥ fafewr I & T ST YRA A HeTE el & A § T a 3R T8 & ¥ 3{fgqds Wd-adl GUH & 916 15 SR 1947
SIS TR | 1950 H AN T 1 Wfae™ & 38 Qrdoi+e 9% ANUGR & YR TR R FaUTHS didditie TR 9iftd o faar
T 3R GTECS THTSH B ol IR IR el BT JHGHI TSR VI BT TRIY | Teh g I, HR Pl 29 ] 3R 7 G 21RAd we=it
o e d fovan T § | e TG d qHTSTaTe) ST ifaal &1 UTer &R & €16 1991 & UHTd R A SGRIBRU 3R aefieur &t 7t
Hferl & SyR W A 3M1ieb SR Ao U 1 5l .

33 ARG 1 [harHIcR 8Fthel & W1y HRA HRTITTD e & SR WR 3% PT AIdal Gad F910F 811991 & TIR-URT JURI & 91G
Wﬁ%ﬁﬂaﬁéﬁﬁaﬁmﬁma@aﬁ.wawaﬁﬁﬁwﬁwésﬁ?sﬁww-sﬁmﬂ%gmwél TR YR & A 3t
Hf TR, USTEIR, $UINYT, ST ATdei-ds Warg-¥al 3R Tddarg dI gl ¢ | 3o HRd T [afae), SgHTH, SR 98-SI1d1g 99Tl §
3R YR 1 U &A1 ifad 5

Sub questions

Question Number : 196 Question Id : 92775914402 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SR TR & TR HRA = HETe1 Teft & Agd & T T 3R T & ¥ g Wa-adl GUTH & §lg D1 TSI UTS |




Options :

1. % 15 3T 1950
2. ¥ 15 3T 1947
3. % 26 ST 1947
4. % 26 ST 1950

Question Number : 197 Question Id : 92775914403 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SR TR & TR T JHT dh JHTSATG! 11 et 7 O1e B o 916 1991 & GYTd YRd = & YR W IS
M SR ARG Wi &1 5|

Options :

1. % IERIDHRU Bi T4t et

2. % il Bt R il

3. % IERIBU DI R il Td Asfiep=ur ot T4t Hifeat
4. ¢ IERIGT 3R Iefep=ur b 7t Hifcray

Question Number : 198 Question Id : 92775914404 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

PrefifRd sl 3 & SwRied i &1 Sfd Wie R
Options :

1. % 1857 1 WdAdl UH

2. % R 91t ggan

3. % YT YUCHH &l IGRIBU]

4. ¢ YRAI IUHGTSIY hT e

Question Number : 199 Question Id : 92775914405 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SIS TR o G & 97 T T -9 H 9 g1 52

Options :



1. ¢ HRd, <feror TR 7 R YR SUARTET &1 dRT 999 §81 e 2|

2. % YR & Uiy H Urfored™, STR-Yd § 9, 70T 3R e, Id & Siares ok TR Ra gl

3. % UreF R o1dt §dT, $HR] HeH AgIed T UR AN 3R TS8-S JHTd! BT fAHT-RIF I8 YR STHETET B 30% IRPAH
3R 31 THadt & T 3fagra & ol ST ST <1 3 |

4. % YRT Hfere =P T fay o1 Iraaf ged se13w |

Question Number : 200 Question Id : 92775914406 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SRS T § e Xeq “USTER H FUfaiRad & ¥ &H-91 90 82
Options :

1. % fgr gary

2. % GG qA™

3. ¢ SHYRY TN

4. % qgsille AN




